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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP,RANCHI 
HALF YEARLY  EXAMINATION   (2024-25) 

 
Class - X       Subject – Artificial Intelligence   
Time – 2 Hours      Maximum Marks- 50   

General Instructions:  

1. Please read the instructions carefully.  
2. This Question Paper consists of 19 questions in two sections: Section A & Section B.   
3. Section A has Objective type questions whereas Section B contains Subjective type questions.  
4. Out of the given (3 + 16 =) 19 questions, a candidate has to answer (3 + 10 =) 13 questions in the 

allotted (maximum) time of 2 hours.  
5. All questions of a particular section must be attempted in the correct order.  

 
 

SECTION A: OBJECTIVE TYPE QUESTIONS 

Q. 1  Answer any 4 out of the given 6 questions on Employability Skills (1 x 4 = 4 marks) 

i.  What makes you complete work or studies without others cheering you? 
a. Self-confidence 
b. Communication 
c. Self-motivation 
d. Self-esteem 

 

1 

ii.  Here are the steps that take place when starting a computer. Rearrange the 
steps in the correct order.  

1. Desktop appears after login 
2. Login screen appears 
3. Power on Self-Test(POST) starts 
4. Operating system starts 
5. Welcome screen appears 
a. 1>2>3>4>5 
b. 2>3>1>4>5 
c. 3>4>5>2>1 
d. 3>5>4>1>2 

 

1 

iii.  What plays a major role in reaction to stress 

a. Emotions 

b. Personality 

c. Confidence 
d. None of these 
 

1 

iv.  Self-Reliance means _____ 

a. Ability to Work Independently 
b.  Complete the task effectively 
c.  Both of the above 
d.  None of the above 

1 
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Q. 2  Answer any 10 out of the given 12 questions (1 x 10 = 10 marks)  

i.  An industrial robot learns and adapts to new tasks without being explicitly 
programmed is using the concept of: 
a. Computer Vision 
b. Machine Learning 
c. Speech Recognition 
d. Natural Language Processing 
 

1 

ii.  An AI system that analyzes medical scans and x-rays to detect early sign of 
diseases is an application of: 
a. Speech Recognition 
b. Computer vision 
c. Robotics 
d. Natural Language Processing 

1 

iii.  AI ethics is concerned with ____________ 

a. Designing algorithm with biases 
b. Ensuring fairness and accountability in AI systems 
c. Automating mundane tasks 
d. Reducing the use of AI in healthcare 

1 

iv.  Which of the following statement is correct for training data: 
i. Data should be relevant 
ii. Data should be authentic 
iii. Data should be downloaded only 
iv. Data can be anything 
a. i, and ii 
b. i, ii and iii 
c. ii, iii and iv 
d. All of them 

1 

v.  Setting goals is the first part of problem scoping ? 
1. True 
2. False 

1 

vi.  Which of the following is not one of the Vs of big data? 
a. Volume 
b. Velocity 
c. Variety 
d. Version 

1 

v.  _______ are malicious programs that replicate themselves from one system to 
another, through a network. 
 

1 

vi. _______ is also known as resource manager because it manages all the 
resources attached to the system. 

1 
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vii. Unscramble the letters and find the parameter that is NOT used in evaluation 
stage 
a. CMVETEEHAIN 
b. ONSIPRICE 
c. RYAUACCC 
d. ECLARL 

1 

viii. Data about the houses such as square footage, number of rooms, features, 
whether a house has a garden or not, and the prices of these houses, i.e., the 
corresponding labels are fed into an AI machine. By leveraging data coming 
from thousands of houses, their features and prices, we can now train the 
model to predict a new house’s price. This is an example of 
a. Reinforcement learning 
b. Supervised learning 
c. Unsupervised learning 
d. None of the above 

1 

ix. (i) CSV is a simple file format used to store tabular data. (ii) A Spreadsheet is 
used for managing data using rows and columns. (iii) SQL is used for 
managing data stored in Database Management Systems (DBMS). The above 
given files are examples of structured data. Which of the following steps are 
involved in converting data from various sources into digital format? 
a. Problem Scoping 
b. Data Acquisition 
c. Data Modelling 
d. Data Exploration 

1 

x. XYZ company  had been working on a secret AI recruiting tool. The Machine-
learning specialists uncovered a big problem: their new recruiting engine did 
not like women. The system taught itself that male candidates were preferable. 
It penalized the resumes that included “women”. This led to the failure of tool. 
This is an example of 
a. Data Privacy 
b. AI Access 
c. AI Bias 
d. Data Exploration 

1 

xi. Statement: 1 At the same time, we should keep in mind that the data which we 
  collect is open-sourced and not someone’s property. 
Statement 2: Extracting private data can be an offense. 
a. Statement 1 is True 
b. Statement 2 is True 
c. Statement 1 and 2 both are True 
d. None of these statements are True 

1 
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xii. Assertion (A): A self-driving car is made up of a combination of sensors,  
    cameras, radar and AI. 
Reason (R): The owner is liable if a self-driving car is involved in an accident 
a. Both A and R are correct and R is the correct explanation of A. 
b. Both A and R are correct but R is NOT the correct explanation of A 
c. A is correct but R is incorrect 
d. A is incorrect but R is correct 

1 

 
 

Q. 3  Answer any 10 out of the given 12 questions (1 x 10 = 10 marks)  

i. Choose from the following areas where NLP can be useful. 

a.  a. Automatic Question-Answering Systems 

a. Automatic Text Summarization 
b. Information Retrieval 
c. All of the mentioned 

 

1 

ii.  For a data set TP=100 and FN = 80, What is the recall? 

a. 0.8 

b. 0.55 

c. 1.25 

d. 0.2 

1 

iii.  What is the lemma of the word “Making”? 
a. Mak 
b. Make 
c. Making 
d. Maker 

1 

iv.  What is the stem of the word “Making”? 
a. Mak 
b. Make 
c. Making 
d. Maker 

1 

v.  An AI model that does not produce any False Positive has a precision of 
________ 

1 

vi. What is the F1 score of an AI model if its precision is twice its recall? 1 

vii. Which of the following is a process of categorizing text into predefined groups 
using NLP? 
a. Sentiment analysis 
b. Automatic summarization 
c. Text classification 
d. None of these 

1 
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viii. What is prediction? 

a. Machine input 

b. Machine output 

c. Actual scenario 

d. Imaginary scenario 

1 

ix. ____________is defined as the percentage of correct predictions out of all the 
observations.  
a. Predictions 
b. Accuracy 

c. Reality  
d. F1 Score 

1 

x. An AI system uses two broad classes of data namely content data which 
includes the raw video streams title, description, etc, and user activity data that 
includes rating a video, favoriting/liking a video, or subscribing to an 
uploader, and watch time. Based on this, the AI system measures a user’s 
engagement and happiness. It then starts computing personalized 
recommendations to the user. Which of the following applications can you 
relate to this? 

a. self-driving car  
b. Siri  
c. email filters  
d. YouTube 

1 

xi. What will be the outcome, if the Prediction is “Yes” and it matches with the 
Reality? What will be the outcome, if the Prediction is “Yes” and it does not 
match the Reality? 
a. True Positive, True Negative  
b. True Negative, False Negative  
c. True Negative, False Positive 
d. True Positive, False Positive 

1 

xii. A leading multinational company that operates on a chain of hypermarkets 

and grocery stores deployed an AI application to make it easier for employees 

to keep their stores running smoothly. They used thousands of video cameras, 

weighted sensors on shelves, and other technologies that can tell employees 

when certain products are starting to go bad. One of the tasks of the 

application is to identify bananas that had started to turn brown, eliminating 

the need for employees to manually inspect fruit. Which of the following 

domains is used to achieve this?  

a. Data sciences  
b. Computer vision  
c. Natural Language Processing 
d. d) Fuzzy logic 

1 
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SECTION B: SUBJECTIVE TYPE QUESTIONS  

Answer any 3 out of the given 5 questions (2 x 3 = 6 marks) Answer each 

question in 20 – 30 words.  

Q. 4  What is stress? 2 

Q. 5 Explain eustress and distress with suitable examples for each. 2 

Q. 6  Working independently is a self management skill. Give two suitable examples 
where working independently is better than working in a team.   

2 

Q. 7 State two main functions of a computer operating system. 2 

Q. 8 Tina has to finish her project work urgently, for which she needs her 
computer to work properly. However, her computer’s speed has gone down 
significantly in the last few days. What are some of the measures she can take 
on her own before seeking help? 

2 

Answer any 4 out of the given 6 questions (2 x 4 = 8 marks) Answer each 

question in 20 – 30 words.  

Q. 9  You are working for an organization as an AI expert. You have been asked to 

make a model which will organize the unlabeled input data into groups based 

on features. Which learning model should you use and why? 

2 

Q. 10  Differentiate between Classification and Regression. 2 

Q.11 What is a confusion matrix? What is it used for? 2 

Q.12 Differentiate between stemming and lemmatization. Explain with the help of 
an example. 

2 

Q.13 Write down the steps to implement a bag of words algorithm. 2 

Q.14 What is the 4Ws problem canvas?  2 

 

Answer any 3 out of the given 5 questions in 50– 80 words each (4 x 3 = 12 marks) 
 

Q. 15 Through a step-by-step process create document vectors for the given 
document 
Document 1: The lush green mountains were alive and attractive. 
Document 2: The lush green mountains were dazzling and breathtaking. 
Document 3: The lush green mountains were enchanting and ethereal. 
Document 4: The lush green mountains were pristine and picturesque.  
 

4 
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Q. 16 Evaluate the performance of an AI model for which the confusion matrix is 

given below. 
 

 yes no 

yes 32 8 

no 3 52 
 

4 

Q. 17 Not all automatic systems are intelligent. Discuss the statement. Justify your 
answer with a suitable example.  

4 

Q. 18 Explain the different stages of the AI project cycle. 4 

Q. 19 Explain three main domains of AI with suitable examples for each.  4 
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DELHI PUBLIC SCHOOL 
         SAIL TOWNSHIP,RANCHI 

   HALF YEARLY  EXAMINATION   (2024-25) 

 
Class - X        Subject – French  
Time – 3 Hours       Maximum Marks- 80 
   

 

Reading ( 10 Marks)  

Dans une vie Vous prenez environ 50,000 repas. Si vous comptez une moyenne d’une heure par 

repas, vous passez environ six ans de votre vie à manger! 

Est-ce que, conmme 42% des Français, vous préférez toujours le bifteck-frites ? Est-ce que comme 

Eux, vous aimez la sole et le boeuf bourquignon ? Qu’est-ce que Vous offrez à vos invités ? De la 

nouvelle cuisine légère ou comme la majorité des maítresses de maisons françaises, un repas 

Traditionnel |avec une entrée, du poisson, de la viande, de la salade, du fromage, un dessert et 

desVins ? Est-ce que vous faites encore, comme la plupart des cadres et des hommes d’affaires, 

desRepas d’affaires riches en calorie et souvent en alcool ? 

Ou bien est-ce que votre repas de midi, souvent pris d’un self-service, se limite à un seul plat, 

Suivi,Quelquefois, d’un petit dessert et d’un café ? Est-ce que votre repas du soir, pris en famille, 

n’estPas trop lourd ? Est-ce que vous consommez moins de pain et de pommes de terre ? Est-ce 

que vous buvez moins de vin aux repas et plus d’eau minérale ? 

Si vous vous reconnaissez dans ces dernières remarques, c’est que, comme le Français 

moyen,Vous mangez moins (sauf peut-être pour les fêtes ), vous faites attention à votre ligne, vous 

lisez peut-être des articles sur la diététique, vous dépensez moins pour la nourriture, et vos artères 

se portent mieux ! 

1. Répondez aux questions:              [2] 

1) Quest-ce que les français prennent pour leur repas de midi ? 

2) Les maîtresses de maison , qu’offerent – elles à leurs invités ? 

2. Donnez les contraires des mots suivants:          [2] 

1) Riches :  ___________ ( pauvreté, pauvres , pauvresse) 

2) Traditionnel : _________ ( moderne, antique, modernisme) 

3) Souvent : __________ ( toujours, rarement, tous les jours ) 

4) Majorité : ___________ ( majeur, mineur, minorité)  

3. Cherchez dans la texte :             [2] 

1) La forme nominale des verbes : 

A) Vivre.     ____________.              B)  inviter  _____________ 

2) La forme nominale des noms : 

A) La consommation ____________.    B) la lecture : _________ 
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4. Dites vrai ou Faux :              [4] 

1) La plupart des hommes d’affaires prennent des repas riches en calorie.  

2) Le francais moyen fait attention à sa ligne. 

3) Si on mange moins, on dépense moins pour la nourriture. 

4) Les repas pour les fêtes ne sont pas très lourds. 

 

Writing   (20 Marks) 

 

1. Écrivez une lettre d’environ 80 mots                       [10] 

A) À vos parents pour leur dire que vous étiez malade et vous êtes allé chez le médecin. 

B) Écrivez une lettre d’environ 80 mots à votre cousin€ décrivant le système politique en 

 France. 
 

C) À votre ami décrivant un roman que vous avez récemment lu. 
 

FAITES LES DEUX DE TROIS 

2. Mettez le dialogue en ordre:                     [5] 

Les Sports 

Akansha: D'accord! Je viendrai avec toi. 

Nandini: Bien sùr ! Je m’entraine déjàlll y a un match de basket-ball samedi matin. Viens-tu ? 

Akansha:  salut Nandini !|l y a une émission spéciale sur le cricket aujourd’hui. Viens-tu chez 

moipour la regarder ensemble ? 

Nandini: Super! Je t’attendrai. 

Akansha: Oui, je sais. Vas-tu participer au prochain concours au lycée ? 

Nandini:  Salut Akansha !Comme tu sais, je ne suis pas intéressée au cricket. Désolée! Je prerere 

le tennis et le basket-bal. 

 

3. Complétez le texteà l’aide des éléments donnés:          [5] 

(se fâche, pourront, possible, irritée, rendez-vous, début, ensuite, gaspiller, retard, séances) 

Des amis ont ____________Pour aller au cinéma ensemble. L’horaire des 

_________De cinéma est fixe. On ne peut pas être en retard. Thomas arrive un bon quart 

d’heure en __________ ! Trop tard ! Il n’est plus ________ d’arriver à l’heure pour le _________ 

de la séance; jeanne est ________. Elle, elle est toujours à l’heure, et même en avance; elle n’aime 

pas _______ son temps et son argent. Elle _______ avec Thomas. Alors , c’est décidé, ils vont 

diner ________ ils iront au cinema à la séance de 23h30. Le lendemain, ils ______se lever tard le 

matin. 

 

4. Pour fêter son anniversaire , Delphine invite son ami(e) d’aller regarder un bon film avec elle ce 

vendredi. Rédigez l’invitation d’environ 30-35 mots de la part de Delphine.      [5] 
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                               Grammaire ( 30 marks) 

 

1. Posez les questions. Les réponses sont soulignées:          [5] 

i. La carte Visa sert à acheter des produits. 

ii. Si, nous irons chez le dentiste si nous avons mal aux dents. 

iii. Les étrangers visiteront le Taj Mahal en Inde. 

iv. Les acteurs indiens ont reçu les prix prestigieux. 

v. Je voyagerai en train. 

Ou 

2. Mettez au négatif :  

a. Donne-moi le stylo. 

b. Nous mangeons des croissants ou des sandwiches. 

c. Tout le monde est content. 

d. Henri a déjà rencontré tous ses amis. 

e. J’ai beaucoup de travail ce matin. 

3.  Remplacez les noms par des pronoms personnels:              [5] 

a) Va au club avec tes amis. 

b) Jeanne a terminé ses devoirs. 

c) Paul, il est plus grand que sa soeur. 

d) Le professeur dit aux élèves de ranger leurs livres. 

e) Donnez-moi du sucre, s’il vous plaît ! 

Ou 

4. Complétez les phrases en utilisant les pronoms relatifs composés: 

        ( auxquels/ lesquels/pour lequel/duquel/ laquelle) 

A. Voici mes amis américains chez__________J’ai passé mes vacances d’hiver. 

B. Tu as des problèmes____________je n’ai aucune solution. 

C. J’habite dans ce beau village autour ___________il y a de petites collines. 

D. La femme avec _______________Jean parle est une actrice célèbre. 

E. Mon professeur __________ Je dessine cette carte part pour la France. 

5. Remplissez les blancs par les adjectifs ou les pronoms possessifs : ( 5 aux choix )        [5] 

1) Je vais prendre _________ roman, prenez ________ aussi ! 

2) Le garçon lui a servi ______ dessert, j’attends __________. 

3) Chers amis, où sont _______ photos ? Nous avons mis ________ dans la boîte. 

4) La jeune fille s’occupe bien de _________ parents , et lui s’occupe – t- il de ______ 

5) ____________ voix est olus belle que __________. 

6) Nous sommes dans _________ salle de classe. Ils sont dans ___________ 

7) paul et moi avons montré ________ exercises à ___________ professeur.  
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6. Mettez au subjonctif (5 au choix)         [5] 

A) Il faut que nous (savoir) le chemin. 

B) Elle ne pense pas que tu (venir) à la soirée. 

C) Je suis content que tes amis (être) à l'heure pour le concours. 

D) Elle ne veut pas que nous (avoir) du mal à la comprendre. 

E) Il exige que je (finir) mon devoir.nnebuig euonob iubtile. 

F) Claire souhaite que tu (voir) ce film avec elle. 

G) Nous sommes heureux qu'elle (pouvoir) chanter. 

7. Conjuguez les verbes entre parenthèses (5 au choix)         [5] 

1) Je veux__________(se coucher) tốt ce soir. 

2) Ilya une heure, nous________(compléter) l’affiche 

3) ______________(Vouloir) écrire votre nom sur la fiche! 

4) Dans quelques instants, il__________(présenter) son ceuvre. 

5) S’il _________ (faire) froid, il ne sortirait pas. 

6) Dès que l’actrice________(revenir), le réalisateur racontera Ihistoire. 

7) L’année dernière, elles___________ ( se rencrontrer) dans la rue. 

8. Mettez les phrases au style direct ou indirect, selon le cas (5 au choix):      [5] 

1) Je leur demande s’ils peuvent visiter mon école. 

2)  Paul lui dit de l’accompagner au stade. 

3)  Mon père me demande, “Qu’est-ce qui t’ennuie ?” 

4) «Faites-vous du yoga tous les jours ? », notre ami nous demande. 

5) Ma mère me dit que je pourrai sortir sans elle. 

6) Harry lui demande ce gu’il voudrait comme cadeau. 

7) L’agent de police nous dit, « Il faut conduire prudemment >. 

Litterature ( 20 Marks ) 

1. Répondez aux questions :   (5 aux choix )                        [5] 

1) À quoi sert une carte de lecteur ? 

2) Que savez -vous du panchtantra ? 

3) Que doit – on faure quand on est au chômage ? 

4) Que peut- on étudier dans un IUT ? 

5) À quel âge les jaunes entrent – ils à l’école primaire en France ? 

6) Nommez quelques stations/ chaines de radio en France. 

7) Quest-ce que c’est Zapper ?  
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2. Chassez le mots intrus :  ( 5 aux choix)             [5] 

1) Le monde / le figaro / l’express /La Libération 

2) TF1 / France 2/ Canal / Europe 

3) Le présentateur/ Le feuilleton/ les actualités/ la publicité 

4) RF1/ TF1/ France musique radio / Europe 1  

5) Un journal / un quotidien / un hebdomadaire / un mensuel 

6) Le faits divers/ la méteo/ la quotidien/ La culture 

3. Reliez les colonnes A et B et récrivez : ( 5 aux choix)               [5] 

           Colonnes A                                                                   Colonne B 

A. Le petit prince.                                                       1) jules verne 

B. Le renard et les raisins.                                      2) Antoine de saint Exupery 

C. Le Tour de monde en 80 jours.                        3) Bande Dessinée  

D. Panchtantra.                                                           4) Un roman policier français 

E. Arsène Lupin                                                             5) La fontaine  

F. Tintin.                                                                             6) Vishnusharma 

4. Dites vrai ou faux :              [5] 

1) Quand on fait un travail à mi – temps on veut être embauché à plein temps  

2) céline Dion est une actrice 

3) Le travail d’une secrétaire est très facile. 

4) uns secrétaire ne fait que rédiger des lettres. 

5) On entre au collège sixième  
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 
HALF YEARLY EXAMINATION  (2024-25) 

 

 
Class - X                                                                       Subject – General Knowledge  
Time – 1 Hour                                                    Maximum Marks - 50 
   

 

Question (1-25). One Word Answer        (25 x 1 = 25) 

1. You must have used the UPI facility. What does this mean? 

2. Portuguese were the first European to come to India. When did the Portuguese leave India?  

3. Who was said to be the last viceroy of India? 

4. Where is the headquarters of the World Economic Forum? 

5. What is the currency of Iraq? 

6. Lake Tanganyika is the world's longest freshwater lake located in? 

7. Where is the Keshopur Ramsar Site situated? 

8. What is the total number of members in BIMSTEC? 

9. When was the State Bank of India founded? 

10. Name any two examples of cryptocurrency. 

11. How many schedules were there in the original Constitution of India? 

12. If there was Monday on Jan 1, 1992, then which day was there on Jan 1, 1993? 

13. Where is City Birds Wildlife Sanctuary? 

14. Where is Bandhavgarh & Panna National Park located? 

15. What are the official languages of Mizoram? 

16. How many landlocked states are there in South America? 

17. "Home and the World" is written by? 

18. Angami Tribe found in? 

19. How many times does concerning, the clock's hands coincide in a day? 

20. Who are said to be the founders of the World's famous Video site " YouTube? 

21. When was the first meeting of the constituent assembly of India held? 

22. Which team won the first Indian Premier League in 2008? 

23. Stanley Cup is related to which sport? 

24. Which was the only session of Congress presided by M.K. Gandhi? 

25. Samudra Shakti is a naval exercise between which two countries? 
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Question (26 – 50) Multiple Choice Questions:     (25 x 1 =25)  

26. Who is the author of 'Home and the World'? 

A. Vikram Seth       B. Rabindranath Tagore 
C. Aravind Adiga      D. None of the above 

  27. Consider the following statements regarding ATL Space Challenge 2021. 

 1. ATL Space Challenge is launched by NITI Ayog, ISRO and CBSE together. 

 2. It is celebrated from the 4 to 10 October each year at the international level 

 Which of the following statement(s) given above is/are correct? 
A. Only 1       B. Only 2 
C. Both 1 and 2       D. Neither 1 nor 2 

28. Who said the famous slogan, "Tum Mujhe Khoon Do, Main Tumhe Aazadi Dunga'? 

 A. Rabindranath Tagore     B. Bhagat Singh 
C. Netaji Subhas Chandra Bose    D. Mangal Pandey 

 29. Which of the following statement(s) is/are correct regarding the grassland ecosystem? 

 A. These are known by different names in different regions of the world like steppes in 
 Europe and Asia, pampas in South America, Veldt in South Africa. 
B. It is one of the most widespread of all major vegetation in the world. 
C. Both A and B 
D. Only A 

 30. Which of the following diseases is caused by the deficiency of Vitamin C? 
A. Scurvy       B. Bleeding Gums 
C. Chronic Inflammation and Oxidative Stress  D. All the above 

 31. Which of the following is a root vegetable? 
 A. Carrot   B. Cassava    C. Onion  D. All the above 

 32. Which of the following are disaccharides? 

1. Fructose 

2. Glucose 

3. Sucrose 

4. Lactose 

 Choose the correct answer 

A. 1 and 2  B. 2 and 3    C. 3 and 4  D. 1, 2 and 3 

 33. Which of the following officers was present in the village during the Mughal 

 administration? 

  A. Muqaddam   B. Patwari    C. Chowkidar  D. All the above 

 34. What is the boiling point of 'Heavy Water'? 

  A. 101.4 °C   B. 102.4 °C    C. 103.6 °C   D. None of the above 

  35. In which of the following state of India Valmiki Tiger Reserve is located? 

 A. Chattisgarh   B. Jharkhand   C. Bihar   D. Madhya Pradesh 
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 36. Who of the following founded the provincial kingdom of Awadh? 

A. Saadat Khan Burhan ul Mulk    B. Wajid Ali Shah 

C. Safdar Jung/ Adbdul Mansur    D. Asaf-ud-daula 

 37. Who introduced the Shaka era? 

A. Kanishka   B. Bimbisara    C. Ajatshatru  D. Udayin  

38. Which of the following state of India is known as 'Silicon State'? 

  A. Maharashtra   B. Karnataka    C. Bihar   D. Jharkhand 

 39. When is National Science Day Observed? 

  A. 20 February   B. 28 February   C. 3 March   D. 21 March 

 40. Who won the 10th Italian Open title in 2021? 

A. Novack Djokovic  B. Rafael Nadal 

C. Dominic Thiem D. Stefanos Tsitsipas 

41. India won Thomas Cup on May 15, 2022, by defeating whom? 

A. Indonesia B. Malaysia 

C. China D. Denmark 

42. Who is the first Indian fencer to qualify for the Tokyo Olympic Games? 

A. Kavitha Devi B. Bhavani Devi 

C. Daina Devi D. Kaushik Vedika 

43. Neeraj Chopra won India’s first-ever Olympic Gold Medal in which of the following 

 sports? 

A. 400m Hurdle B. Javelin Throw 

C. Long Jump D. High Jump 

44. Which of the following footballers has the world record for the highest goal scorer for a 

 single club? 

A. Lionel Messi (Barcelona FC) B. Pele (Santos FC) 

C. Gerd Muller (Bayern Munich) D. Fernando Payrotes (Sporting CP) 

45. Who became the first player of Indian origin to play in an NBA game? 

A. Sim Bhullar B. Palpreet Singh 

C. Amjyot Singh D. Satnam Singh 

46. Thomas Cup and Uber Cup are prestigious trophies of which sport? 

A. Badminton B. Lawn Tennis 

C. Table Tennis D. Golf 

47. Name the first cricketer to hit six sixes in an over in One Day International (50-50) cricket? 

A. Yuvraj Singh B. Herschelle Gibs 
C. Ravi Shastri D. Leo Carter 

48. In which year did Roger Federer win his first Wimbledon title? 

A. 1997 B. 1998 C. 2001 D. 2003 

49. Name the 1st woman cricketer to appear at 6 Cricket World Cups? 

A. Mithali Raj B. Smriti Mandhana. 

C. Harmanpreet Kaur. D. Jhulan Goswami. 

50. Who was the chief architect of the Taj Mahal? 

A. Shah Jahan      B. Ustad Aḥmad Lahawrī 

C. Ustad Bismillah Khan     D. Ustad Amjad Ali Khan 
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 General Instructions 

1. This paper has four sections i.e., Reading, Writing, Grammar and 
Textbook.  

2. The marks for each section are defined with individual questions. 
3. Attempt question of one group at one place. 
4. Write complete sentence for fill in the blanks type question. 
5. Read the instructions carefully and attempt only the required number of 

questions where internal choices are given. 
 

 

 SECTION A - 
LESEN 

 

I. „In aller Munde” 

Kaum jemand mag sie nicht. Man isst sie, weil man Lust darauf hat, oder 
weil man sich gerade geärgert hat und etwas Gutes für sich tun möchte. 
Kinder lieben sie. Wenn sie auf dem Tisch steht, steht sie meistens nicht 
lange da. Jeder nimmt sich ein Stück, und bald ist sie weg – die Schokolade. 
Sie ist in aller Munde. Wir leben sie und wir hassen sie. Denn wer kennt ihn 
nicht, den Satz „ist nicht zu viel davon, Schokolade macht dick“. Tatsächlich 
hat eine Tafel Schokolade, das sind 100 Gramm, circa 590 Kalorien, so viel 
wie eine ganze Mahlzeit. Doch was sie nicht hat, sind Vitamine. Ist 
Schokolade also nur ungesund? 
Vor allem Vollmilchschokolade enthält viel Zucker und Fett. In einer Tafel 
können bis 40 Gramm Fett sein. Ganz schön viel, denn 80 Gramm braucht 
ein Mensch pro Tag. Anders ist es mit dunkler Schokolade, auch 
„Bitterschokolade“ genannt. Wer davon isst, bleibt auch schlank – natürlich 
dürfen sie nicht Kiloweise essen. Bitterschokolade enthält wenig Zucker und 
viel Kakao, und der ist gesund für Herz und Kreislauf, sagen 
Wissenschaftler. 
Früher war Schokolade eine Medizin. Bis zum 19. Jahrhundert haben sie nur 
Apotheken verkauft. Aber nur reiche Leute haben Schokolade gegessen, 
weil sie sehr teuer war. Erst 1819 hat Francois Louise Cailler in der Schweiz 
die erste Schokoladenfabrik gegründet. Noch heute essen wir die braune 
Süβigkeit von den Ersten der Schokoladenherstellung, von Suchard 
(gegründet 1826), von Lindt (1845) und Tobler (1899). Alle drei Firmen 
haben eines gemeinsam: Sie besonders gut und lecker sein soll. 
Na, Appetit bekommen? – Naschen Sie mal wieder, denn der groβe 
Zuckeranteil in der Schokolade wirkt auf unser Gehirn und macht gute 
Laune. 

A. Antwort die folgenden Fragen: 

a. Warum essen Menschen Schokolade? 
b. Was ist das Problem mit Schokolade? 
c. Gibt es eine gesündere Alternative zur Vollmilchschokolade? 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
1x6=6 
 
 
 



d. Wie wurde Schokolade früher verwendet? 
e. Welche bekannten Schokoladenhersteller werden im Text erwähnt? 
f. Was macht Schokolade so beliebt? 

 
B. Richtig oder falsch: 

a. Bitterschokolade wird auch Vollmilchschokolade genannt. 
b. Schokolade kann die Laune verbessern. 
c. Kinder mögen keine Schokolade 
d. Francois Louise Cailler gründete 1819 die erste Schokoladenfabrik in 

Deutschland 
e. Eine Tafel Schokolade hat etwa so viele Kalorien wie eine kleine 

Mahlzeit. 
f. Früher konnte man Schokolade nur in Apotheken kaufen. 
g. Schokolade enthält viele Vitamine. 
h. Dunkle Schokolade enthält weniger Zucker und ist gesünder für das 

Herz und den Kreislauf. 
 

 
 
 
 
0.5x8=4 

II. Lies den Text und beantworte die Fragen: 
 
Dünn und schön? 

Wenn ich heute meine Fotos von damals sehe, danke ich: „Wahnsinn, wie 
dünn ich war“. Das war vor zwei Jahren… ich bin magensüchtig geworden, 
als ich 14 war. Und es hat so einfach angefangen… Zuerst wollte ich nur ein 
bisschen abnehmen, ein paar Kilo runter. Dann hatte ich ein Erfolgserlebnis. 
Ich hatte keinen Hunger mehr, also habe ich fast gar nichts gegessen. Ich 
habe kaum gemerkt, wie schnell ich Gewicht verloren habe. Ich habe unter 
32 Kilo gewogen und oft ist mir beim Aufstehen Schwindling geworden. 
Die anderen haben immer gesagt: „Du kannst umkippen.“ Aber ich habe es 
nicht geglaubt. Natürlich war mir immer kalt, aber das habe ich nicht 
gemerkt, weil ich mich daran gewöhnt habe. Bis heute weiβ ich eigentlich 
nicht, was der Grund für meine Krankheit war. Zuerst war für mich nur das 
Gewicht wichtig. Doch dann war auch das nicht mehr so wichtig… es war 
wie ein Zwang Später, so denke ich heute, ist noch was dazukommen: ich 
wollte nicht erwachsen werden. Nur meine Schwester hat die Gefahr 
erkannt. Ich selbst habe lange nicht eingesehen, dass ich krank war. Am 
ende bin ich mit meinen Eltern zu einem Psychologen gegangen und habe 
eine Therapie gemacht. Zwei Jahre bin ich hinzugegangen.Gott sei Dank ist 
es jetzt vorbei. 
 

A. Richtig oder falsch: 

a. Julia ist heute 14 Jahre alt. 
b. Julia war krank, weil sie Probleme in der Schule hatte. 
c. Sie hatte vor zwei Jahren selten Hunger. 
d. Sie hat lange nicht geglaubt, dass sie krank ist. 
 
B. Beantworten die Fragen: 

a. Welche Krankheit hat Julia? 
b. Was waren die Symptome von Julias Krankheit? Schreib je 2. 
c. Was hat sie gegen die Krankheit gemacht? 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
0.5x4=2 
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 SECTION B  – 
SCHREIBEN 

 

III. E-Mail schreiben: 
 

Du warst letzte Woche in Deutschland. Schreib deinem Freund eine E-Mail 
und erzähl ihm davon. Schreib jeweils einen Satz zu den folgenden 
Punkten: 

 Welche Stadt hast du besucht? Wo liegt die Stadt? 

 Wann und wie lange warst du da? Wie war das Wetter? 

 Welche Sehenswürdigkeiten hast du besichtigt? 

 Wie war das Essen? Was hast du probiert? 

5 

IV. Schreib dialog: 
 

Du bist mit deiner Mutter in einem deutschen Restaurant. Du bestellst das 
Essen für euch beide was sagst du? Was sagt der Kellner? Schreib dazu 
einen Dialog. 

5 

 SECTION C  – 
GRAMATIK 

 

V. Bilde Sätze im Präteritum: 
 

„Im Sommer 1992 habe ich meine Ferien in London verbracht. Dort habe ich 
Jaklin kennen gelernt. Sie hat bei ihrer Tante gewohnt. Sie ist wirklich 
hübsch gewesen und sie hat mir sofort gefallen. Zum ersten Mal haben wir 
im Bus getroffen und geredet. Eines Abends habe ich sie zum Abendessen 
ins Restaurant eingeladen. Dann sind wir in die Disko gegangen. Wir haben 
getanzt und viel miteinander gesprochen. Ich habe ihr meine Adresse und 
Telefonnummer gegeben. Sie hat mich oft angerufen. Danach haben wir viel 
Zeit zusammen verbracht.“ 
 

8 

VI. Ergänze die Adjektivendungen: 
 

Heute geht der dünn___ (1) Tim mit der schön ____ (2) Bibi spazieren. Aber 
er hat ein Problem: er weiβ nicht, was er anziehen soll. Zuerst zieht er die 
neu___ (3) Jeans und das neu____ (4) T-Shirt an. Aber die Gröβe ist leider 
falsch. Dann zieht er die grau______ (5) Hose an, aber der nett _____ (6) 
Markus ist dagegen. 
Beide finden die gestreift_____ (7) Jacke altmodisch. Der arm _____ (8) Tim 
bleibt zu Hause. Bibi geht ohne Tim weg. 
 

1x8=8 

VII. Ergänze die Präpositionen: 
 

a. Doris arbeitet ____________ Goethe Institut. 
b. Die Kirche liegt der Schule ____________. 
c. Wir gehen heute Abend ________ Stadion. Kommst du mit. 
d. Wir gehen heute Abend ____________ Restaurant. 
e. Ich war ________ Deutschkurs und dann __________ Arzt. 
f. Bist du heute Morgen mit dem Fahrrad __________ schule gefahren? 
g. Wir fahren im Sommer ________ und dann ________ Schweiz. 
h. Kommst du ________ Berlin? Nein, ich war schon so oft ________ Berlin. 
i. Ich muss schnell ________ die Bank gehen. 
j. Wann sind Sie ________ Deutschland gekommen? – 1974. Jetzt wohne 

ich ________ Mainz. 
k. Bitte fahren Sie ________ Flughafen 
l. Claudia fährt in den Ferien immer zu ihren Freunden ________ Meer. 

0.5x16=8 



VIII. Ergänze die fragen. Mach die Fragen indirekt: 
 

a. Wie funktioniert der neue Computer? 
b. Wie viele Zimmer hat das Haus? 
c. Warum ist der Lehrer nicht da? 
d. Welche Tipps gibt der Lehrer? 
e. Gehen wir zu der Party? 
f. Fährt der Zug rechtzeitig? 
g. Ist das Wohnzimmer klein? 
h. Wer kocht das Mittagessen? 

 

1x8=8 

IX. Ergänze die passenden Adjektive in den richtigen Formen.   
   

 

 

1. Mein Handy ist _______ als Kevins Handy. Ich habe es ein Jahr und er hat 
es fünf Monate.  

2. Die neue Lampe gefällt mir überhaupt nicht. Sie ist _______ als die alte 
Lampe.  

3. Ich bin nicht gut in Mathematik. Ich finde Mathe _______ als Deutsch  

4. Im Winter sind die Tage in Deutschland _______ als die Nächte.  

5. Ich sehe gern Fußball im Fernsehen. Mein Bruder sieht Fußball aber noch 
_______ als ich. 

6. Mein Bruder spielt gut Tennis, aber meine Schwester spielt noch _______ 
als er.  

7. In der A-Klasse sind 35 Schüler es und ist _______ als in der B-Klasse. 
Dort sind nur 22 Schüler.  

8. Kannst du heute einkaufen gehen? Du hast _______ Zeit als ich. 

0.5x8=4 

X. Ergänze die Relativpronomen: 

a. Ich suche eine Freundin, mit _________ ich viel reden kann. 

b. Meine Lehrerin hat das Buch, über _________ wir gesprochen haben. 

c. Pizza ist ein Brot, __________ mit Käse gebacken ist. 

d. Sabine hat eine Freundin, auf ________ sie aufpassen muss, denn sie ist 

krank. 

e. Ich gehe in eine Schule, in _________ meine Mutter auch als Kind 

gegangen ist. 

f. Ich habe einen Hund, mit ________ ich immer spazieren gehe. 

g. Sie kocht Nudeln, __________alle Kinder gern essen. 

h. Ich höre gern Musik, ________ nicht laut isst. 

0.5x8=4 

 SECTION D - 
KURSBUCH 

 

XI. Handy gestohlen – Jugendlicher macht sich mit App auf die Suche 

Polizei, Ausgeschaltet, Handykamera, aufpassen, Eigentlich, 
Freunden, schwimmen, später, SIM-Karte, Dieb, 

1x10=10 

schwierig - alt - gern - hässlich - kurz - viel – laut-gut 

 



 
Letzten Freitag war Simon M. mit ein paar _________ (1) im West Bad in 
München-Pasing. __________ (2) sollte immer einer von ihnen auf Geld und 
Handys___________ (3). Aber dann gingen sie alle zusammen____________ 
(4). Eine halbe Stunde __________ (5) kamen sie zu ihren Sachen zurück und 
Simons Handy fehlte. „Gelegenheit macht Diebe“, wie man sagt. „Ich habe 
mein Handy gleich angerufen, aber nichts gehört“, erzählte Simon. Das 
Handy war_________ (6). Also gingen die Jugendlichen zur ________ (7) 
und machten eine Anzeige. Dann fuhren sie nach Hause. Doch Simon ist ein 
richtiger Computer-Fan. Er hat auf seinem Smartphone eine App installiert, 
die ein Signal sendet, auch wenn jemand eine andere________ (8) einlegt. Er 

setzte sich zu Hause an seinen Computer und wartete. Und wirklich 
schaltete der _______ (9) irgendwann das Handy ein. Das war am 
Samstagabend. Er legte seine eigene SIM-Karte ein und ging mit Simons 
Smartphone ins Netz. So konnte Simon sich von seinem Computer auf das 
gestohlene Handy einloggen. Die __________ (10) machte ein Foto und 
Simon sah, dass der Dieb Bayern-München-Bettwäsche hat. 
 

XII. Lies den Text und Antwort die Fragen: 

Lehrer, Schüler und Eltern probieren in vielen Schulen in Köln Alternativen 
zum bisherigen Kantinenangebot und geben Noten von 1 bis 6 für 
Aussehen, Geschmack und Qualität der neuen Gerichte. Auf die Frage, wo 

es denn besser schmeckt, zu Hause oder in der Kantine, sieht Testesser 
Robin Hörmann in der Gesamtschule Rodenkirchen erst kurz zu seiner 
Mutter Sandra. Sie ist auch Testesserin und vom neuen Schulessen positiv 
überrascht. „Genauso gut wie zu Hause“, sagt Robin dann, und seine 
Mutter lacht: „Er hat total recht!“ 

Jeder glaubt, dass Kinder und Jugendliche Pommes und Pizza lieben, also 
eher die fetten, nicht sehr gesunden Gerichte. Aber das stimmt nicht. Auf 
den Fragebögen der Testesser sieht man, dass gesunde Gerichte wie 
Karotten oder Kartoffelsuppe den Schülern ebenso gut schmecken wie 
Pommes oder Nudeln mit Soße. Nur frisch müssen die Zutaten sein, gut 
gekocht und schön serviert! 

„Unser Essen soll immer besser werden“, sagt auch Rosemarie Gassner von 
der Gutenbergschule. „Da helfen uns die ehrlichen Antworten unserer 
Testesser sehr. Und für gutes Essen zahlen die meisten Eltern gern ein 
bisschen mehr nach dem Motto: „Lieber gut als nur günstig.“ 

A. Antwort die folgenden Fragen:      

a. Welche Gerichte sind bei den Kindern und Jugendlichen bleibt? 

b. Wo wird das Testessen gemacht? 

c.  Was machen die Testesser?  

d. Warum machen die Schüller Testessen? 

e. Wie können die Testesser dabei helfen? 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
1x5=5 
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lkekU; funsZ”k %&lkekU; funsZ”k %&lkekU; funsZ”k %&lkekU; funsZ”k %&    
• bl ç”u i= esa pkj [kaM gSa& [kaM ^d^] [kaM ^[k^] [kaM ^x^] vkSj ^?k^A 
• lHkh [kaMksa ds ç”uksa ds mRrj fy[kuk vfuok;Z gSA 
• ;FkklaHko lHkh [kaMksa ds ç”uksa ds mRRkj Øe”k% fyf[k,A 

 
[kaM&[kaM&[kaM&[kaM&^̂̂̂dddd^̂̂̂    ¼¼¼¼vifBr cks/kvifBr cks/kvifBr cks/kvifBr cks/k½½½½    

    

ç”u 1ç”u 1ç”u 1ç”u 1----    fuEufyf[krfuEufyf[krfuEufyf[krfuEufyf[kr    x|ka”kx|ka”kx|ka”kx|ka”k    dks /;kuiwoZd i<+djdks /;kuiwoZd i<+djdks /;kuiwoZd i<+djdks /;kuiwoZd i<+dj    bldsbldsbldsblds    vk/kkjvk/kkjvk/kkjvk/kkj    ijijijij    cgqfodYih ç”uksa @y?kwRRkjkRed ç”uksa ds mRrj cgqfodYih ç”uksa @y?kwRRkjkRed ç”uksa ds mRrj cgqfodYih ç”uksa @y?kwRRkjkRed ç”uksa ds mRrj cgqfodYih ç”uksa @y?kwRRkjkRed ç”uksa ds mRrj     
fyf[k, &fyf[k, &fyf[k, &fyf[k, &              (1x3=3+2 x 2=4)   

;g ,d loZfofnr rF; gS fd ekuoh; xq.kksa dk vf/kdkf/kd fodkl foijhr ifjfLFkfr;ksa esa gh gksrk 
gSA thou esa loZ= bl lR; ds mnkgj.k Hkjs gq, gSaAd’V vkSj ihM+k vkarfjd òfRr;ksa ds ifj”kks/ku ds lkFk 
gh ,d ,slh vkarfjd ǹ<+rk dks tUe nsrs gSa tks euq’; dks rIr Lo.kZ dh Hkk¡fr [kjk cukrh gSAfoifRr;ksa ds 
igkM+ ls Vdjkdj mldk cy c<+rk gSA ân; esa ,slh vn~Hkqr òfRr dk tUe gksrk gS fd ,d ckj d’Vksa ls 
tw>dj fQj og mldks [ksy le>us yxrk gSA mlds ân; esa foifRr;ksa dks Bksdj ekjdj viuk ekxZ cuk 
ysus dh ohjrk mRiUu gks tkrh gSA eu dh Hkkafr gh “kjhj dh <̀<+rk Hkh “kkjhfjd Je ds n~okjk vkrh gSA 
“kkjhfjd ifjJe mlds “kjhj dks cfy’B cukrk gSA foifRr;ksa esa ridj <̀<+ gq, ân; dh Hkkafr ifjJe dh 
vfXu esa ridj “kjhj ykSg bLikr cu tkrk gSA tc ,d “kk;j us dgk fd * eqf”dysa bruh iM+h eq> ij fd 
vklka gks xbZ *rks og bl lR; ls ifjfpr FkkA pkfjf=d n`<+rk ds fy, tks dk;Z d’Vksa dk vkf/kD; djrk 
gS] “kkjhfjd n`<+rk ds fy, ogh Je djrk gSAnksuksa gh ,sls gFkkSM+s gSa tks ihV&ihVdj “kjhj vkSj eu esa 
bLikrks n`<+rk dks tUe nsrs gSaA 

 
¼i½ foijhr ifjfLFkfr;ksa esa fdldk fodkl gksrk gS\ 

 ¼d½ ekuoh; xq.kksa dk   
¼[k½ rIr Lo.kZ dk  
¼x½ d’V vkSj ihM+k dk  
¼?k½ lR; dk  

 

¼ii½ euq’; dks lksus tSlk “kqn~/k cukus esa D;k lgk;d gS\ 
¼d½ vkarfjd o`fRr     
¼[k½ vkarfjd ǹ<+rk 
¼x½ “kkjhfjd n`<+rk 
¼?k½ d’V vkSj ihM+k 
 

¼iii½ “kjhj bLikr ds leku dSls cu tkrk gS\ 
¼d½ Bksdj [kkdj   
¼[k½ ifjJe dh vfXu esa ridj 
¼x½ gFkkSM+s ls ihV&ihV dj 
¼?k½ thou esa dHkh Hkh vius vki 
 
¼iv½ *eqf”dysa bruh iM+h eq> ij fd vklka gks xbZ* &iafDr dk D;k vFkZ gS\ 

 

¼v½ xn~;ka”k esa fdl vn~Hkqr o`fRr ds laca/k esa vkSj D;k dgk x;k gS\ 
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ç”u 2ç”u 2ç”u 2ç”u 2----    fuEufyf[krfuEufyf[krfuEufyf[krfuEufyf[kr    x|ka”kx|ka”kx|ka”kx|ka”k    dks /;kuiwoZd i<+djdks /;kuiwoZd i<+djdks /;kuiwoZd i<+djdks /;kuiwoZd i<+dj    bldsbldsbldsblds    vk/kkjvk/kkjvk/kkjvk/kkj    ijijijij    cgqfodYihcgqfodYihcgqfodYihcgqfodYih    ç”uksa @y?kwRrjkRed ç”uksa ds mRrjç”uksa @y?kwRrjkRed ç”uksa ds mRrjç”uksa @y?kwRrjkRed ç”uksa ds mRrjç”uksa @y?kwRrjkRed ç”uksa ds mRrj
    fyf[k, %fyf[k, %fyf[k, %fyf[k, %             (1x3=3+2 x 2=4)  
  

jk’Vªh; ikB~;Øe QzseodZ 2023 esa çLrkfor cnyko Ldwyh f”k{kk ds Lo:Ik vkSj mlds n~okjk 
fon~;kfFkZ;ksa ds “kSf{kd fodkl dh n`f’V ls cgqr egRoiw.kZ jpukRed] lqfopkfjr vkSj ldkjkRed gSA blesa 
igyk lc ls egRoiw.kZ cnyko lh[kus ds dkS”kyksa ij cy nsukgSA u, QzseodZ esa bl ckr ij cy gS fd 
fon~;kFkhZ dh u dsoy Kku esa c<+ksRrjh gks cfYd og u;k Kku vftZr djus ds dkS”ky] Kku dks thou esa 
ykxw djus vkSj lkW¶V fLdYl o is”ksoj dkS”ky vftZr djds lekt ds fy, vf/kd mi;ksxh ukxfjd cu 
lds A ikB~;Øe esa fofHkUUk ewY;ksa ij Hkh cy fn;k x;k gSA buesa yksdrkaf=d ewY;ksaa dk lEeku] Ik;kZoj.k dh 
j{kk] xfjek fofo/krk dh ljkguk] thon;k] lekurk vkfn “kkfey gSaAnwljk egRoiw.kZ cnyko fon~;kfFkZ;ksa dks 
fo’k; pquus esa NwV nsuk gSA fon~;kfFkZ;ksa dks lh[kus dh vktknh nsus o mUgsa dfj;j esa Q¡ls jgus dh ctk; 
viuh :fp;ksa dks vkxs c<+kus dh lqfo/kk nh xbZ gSArhljk egRoiw.kZ cnyko lh[kus esa Hkk’kkvksa vkSj muesa Hkh 
Hkkjrh; Hkk’kkvksa ij cy nsuk gSA bl çLrko esa Hkkjrh; Hkk’kkvksa ij cy nsus ls ,d rks fon~;kfFkZ;ksa dks viuh 
Hkk’kk,¡ lh[kus dk volj feysxk lkFk gh Hkkjr dh vU; Hkk’kkvksa dks lh[kus ls mUgsa Hkkjr ls xgu ifjp; 
çkIr djus esa enn feysxhA 
 

¼i½ xn~;ka”k dh fo’k;oLrq dk vk/kkj gS& 
¼d½ fons”kh Hkk’kk 
¼[k½ fon~;kFkhZ dsafnzr ,oa mi;ksxh f”k{kk  
¼x½ ijaijkxr f”k{k.k 
¼?k½ iqLrdh; Kku 

 

¼ii½ jk’Vªh; ikB~;Øe QzseodZ 2023 esa igyk lcls egRoiw.kZ cnyko D;k gS\ 
¼d½ lh[kus ds dkS”ky ij cy  
¼[k½ fons”kksa ls çfrLi/kkZ 
¼x½ vusd Hkk’kkvksa dk f”k{k.k 
¼?k½ ldkjkRedrk dh mis{kk  
 

¼iii½ *yksdrkaf=d ewY;ksa * ls D;k vfHkçk; gS\ 
¼d½ ewY;ijd ç”u iwNuk 
¼[k½ yksdra= dk egRo crkuk 
¼x½ yksd dFkkvksa dk egRo 
¼?k½ yksxksa ds fy, vko”;d ewY; 
 

¼iv½ viuh :fp ds vuqlkj fo’k; p;u djus dks egRoiw.kZ cnyko D;ksa ekuk x;k gS \ 

¼v½ xn~;ka”k ds vuqlkj ikB~;Øe esa fdu ewY;ksa ij cy fn;k x;k gS\  
 
    

[kaM&[kaM&[kaM&[kaM&^[k^^[k^^[k^^[k^    ¼¼¼¼O;kogkfjd O;kdj.kO;kogkfjd O;kdj.kO;kogkfjd O;kdj.kO;kogkfjd O;kdj.k½½½½    
    
    
ç”u 3ç”u 3ç”u 3ç”u 3----    dks’Bddks’Bddks’Bddks’Bd    esaesaesaesa    fn, x, funsZ”kkuqlkj *inca/k* ijfn, x, funsZ”kkuqlkj *inca/k* ijfn, x, funsZ”kkuqlkj *inca/k* ijfn, x, funsZ”kkuqlkj *inca/k* ij    vk/kkfjrvk/kkfjrvk/kkfjrvk/kkfjr    ik¡pik¡pik¡pik¡p    ç”uksaç”uksaç”uksaç”uksa    esa ls esa ls esa ls esa ls fdUghafdUghafdUghafdUgha    pkjpkjpkjpkj    ç”uksa ds mRrjç”uksa ds mRrjç”uksa ds mRrjç”uksa ds mRrj    fyf[k,%fyf[k,%fyf[k,%fyf[k,%&&&&
             ¼1¼1¼1¼1x4¾4½4¾4½4¾4½4¾4½    

¼d½ rrk¡jk dh ryokjrrk¡jk dh ryokjrrk¡jk dh ryokjrrk¡jk dh ryokj ,d foy{k.k jgL; FkhA ¼js[kkafdr inca/k dk Hksn fyf[k,A½ 
¼[k½ bruhbruhbruhbruh    yxu ls dkeyxu ls dkeyxu ls dkeyxu ls dke    djusdjusdjusdjus    okykokykokykokyk    eSaeSaeSaeSa vlQy ugha gks ldrk A ¼js[kkafdr inca/k dk Hksn fyf[k,A½ 
¼x½ rrk¡jk dks ekuks dqN gks”kgks”kgks”kgks”k    vk;kvk;kvk;kvk;k A ¼js[kkafdr inca/k dk Hksn fyf[k,A½ 
¼?k½ rrk¡jk ,d usd,d usd,d usd,d usd    vkSjvkSjvkSjvkSj    ennxkjennxkjennxkjennxkj    O;fDr FkkA¼js[kkafdr inca/k dk Hksn fyf[k,A½ 
¼³½ v:f.kek /khjs& /khjs/khjs& /khjs/khjs& /khjs/khjs& /khjs    pyrspyrspyrspyrs    gq,gq,gq,gq,    ogk¡ tk igq¡phA ¼js[kkafdr inca/k dk Hksn fyf[k,A½ 
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ç”u 4ç”u 4ç”u 4ç”u 4----dks’Bddks’Bddks’Bddks’Bd    esaesaesaesa    fn, x, funsZ”kkuqlkj * jpuk ds vk/kkjfn, x, funsZ”kkuqlkj * jpuk ds vk/kkjfn, x, funsZ”kkuqlkj * jpuk ds vk/kkjfn, x, funsZ”kkuqlkj * jpuk ds vk/kkj    ijijijij    okD;okD;okD;okD;    :ikarj.k * ij:ikarj.k * ij:ikarj.k * ij:ikarj.k * ij    vk/kkfjrvk/kkfjrvk/kkfjrvk/kkfjr    ik¡pik¡pik¡pik¡p    ç”uksaç”uksaç”uksaç”uksa    esa ls esa ls esa ls esa ls     
    fdUghafdUghafdUghafdUgha    pkjpkjpkjpkj    ç”uksa ds mRrjç”uksa ds mRrjç”uksa ds mRrjç”uksa ds mRrj    fyf[k,%fyf[k,%fyf[k,%fyf[k,%&&&&                                ¼1¼1¼1¼1x4¾4½4¾4½4¾4½4¾4½ 

 
¼d½ os dk;ZdrkZ dgk¡ gSa] ftUgksaus pquko ftrok;k gSA ¼ljy okD; esa cnfy,A½ 
¼[k½ ifjJeh O;fDr dHkh [kkyh ugh acSBrkA ¼feJ okD; esa cnfy,A½ 
¼x½ ;fn iqLrd gksrh rks jk/kk vo”; i<+rh A ¼okD; & Hksn crkb,A½ 
¼?k½ cPpk nkSM+dj esjs ikl vk;kA ¼la;qDr okD; esa cnfy,A½ 
¼³½ firk th dh bPNk ds dkj.k eq>s Nk=kokl esa tkuk iM+kA ¼okD; & Hksn crkb,A½ 
 

ç”uç”uç”uç”u    5555----    dks’Bddks’Bddks’Bddks’Bd    esaesaesaesa    fn, x, funsZ”kkuqlkj *lekl* ijfn, x, funsZ”kkuqlkj *lekl* ijfn, x, funsZ”kkuqlkj *lekl* ijfn, x, funsZ”kkuqlkj *lekl* ij    vk/kkfjrvk/kkfjrvk/kkfjrvk/kkfjr    ik¡pik¡pik¡pik¡p    ç”uksaç”uksaç”uksaç”uksa    esa ls esa ls esa ls esa ls fdUghafdUghafdUghafdUgha    pkjpkjpkjpkj    ç”uksa ds mRrjç”uksa ds mRrjç”uksa ds mRrjç”uksa ds mRrj    fyf[k,%fyf[k,%fyf[k,%fyf[k,%&&&&
                                                    ¼1¼1¼1¼1x4¾4½4¾4½4¾4½4¾4½    

¼d½ f”koky; ¼lekl &foxzg dj lekl dk Hksn fyf[k,A½ 
¼[k½ rrk¡jk&okehjks ¼lekl&foxzg dj lekl dk Hksn fyf[k,A½ 
¼x½ ?ku ds leku “;ke gSa tks vFkkZr Jh d`’.k ¼leLrin cukdj lekl dk Hksn fyf[k,A½ 
¼?k½ uoxzg ¼lekl &foxzg dj lekl dk Hksn fyf[k,A½ 
¼³½ egktu ¼lekl &foxzg dj lekl dk Hksn fyf[k,A½ 
 

ç”uç”uç”uç”u    6666----    dks’Bddks’Bddks’Bddks’Bd    esaesaesaesa    fn, x, funsZ”kkuqlkj *eqgkojs* ijfn, x, funsZ”kkuqlkj *eqgkojs* ijfn, x, funsZ”kkuqlkj *eqgkojs* ijfn, x, funsZ”kkuqlkj *eqgkojs* ij    vk/kkfjrvk/kkfjrvk/kkfjrvk/kkfjr    ik¡pik¡pik¡pik¡p    ç”uksaç”uksaç”uksaç”uksa    esa ls esa ls esa ls esa ls fdUghafdUghafdUghafdUgha    pkjpkjpkjpkj    ç”uksa ds mRrjç”uksa ds mRrjç”uksa ds mRrjç”uksa ds mRrj    
    fyf[k,%fyf[k,%fyf[k,%fyf[k,%&&&&                                            ¼1¼1¼1¼1x4¾4½4¾4½4¾4½4¾4½    

 
¼d½ dybZ [kqyuk ¼fn, x, eqgkojs dk okD; esa bl çdkj ç;ksx djsa ftlls mldk vFkZ Li’V gks tk,½ 
¼[k½ vkLrhu dk lk¡Ik ¼eqgkojs dk vFkZ fyf[k,A½ 
¼x½ vkM+s gkFkksa ysuk ¼fn, x, eqgkojs dk okD; esa bl çdkj ç;ksx djsa ftlls mldk vFkZ Li’V gks tk,½ 
¼?k½ ckV tksguk ¼eqgkojs dk vFkZ fyf[k,A½ 
¼³½ gkFk&ik¡o Qwy tkuk ¼fn, x, eqgkojs dk okD; esa bl çdkj ç;ksx djsa ftlls mldk vFkZ Li’V gks

        tk,½ 
 

[kaM&[kaM&[kaM&[kaM&^x^^x^^x^^x^    ¼¼¼¼ikB~;iqLrd ,oaikB~;iqLrd ,oaikB~;iqLrd ,oaikB~;iqLrd ,oa    ikkB~;iqLrdikkB~;iqLrdikkB~;iqLrdikkB~;iqLrd½½½½ 
 

ç”uç”uç”uç”u    7777----    fuEufyf[krfuEufyf[krfuEufyf[krfuEufyf[kr    xn~;ka”kxn~;ka”kxn~;ka”kxn~;ka”k    dks i<+djdks i<+djdks i<+djdks i<+dj    iwNs xiwNs xiwNs xiwNs x, ç”uksa ds lokZf/kd, ç”uksa ds lokZf/kd, ç”uksa ds lokZf/kd, ç”uksa ds lokZf/kd    mfprmfprmfprmfpr    mRrjmRrjmRrjmRrj    okysokysokysokys    fodYifodYifodYifodYi    pqudjpqudjpqudjpqudj    ffffyf[k,%yf[k,%yf[k,%yf[k,%&&&&    

                                                    ¼1¼1¼1¼1x5¾55¾55¾55¾5½½½½    

jktdiwj us ,d vPNs vkSj lPps fe= dh gSfl;r ls “kSysanz dks fQ+Ye dh vlQyrk ds [krjksa ls 
vkxkg Hkh fd;kA ij og rks ,d vkn”kZoknh Hkkoqd dfo Fks ftls vikj laifRr vkSj ;”k rd dh bruh 
dkeuk ugh aFkh] ftruh vkRe&larqf’V ds lq[k dh vfHkyk’kk FkhA *rhljh dle* fdruh gh egku fQYe D;ksa 
u jgh gks] ysfdu ;g ,d nq[kn lR; gS fd bls çnf”kZr djus ds fy, ceqf”dy forjd feysA ckotwn 
blds fd *rhljh dle* esa jkt diwj vkSj oghnk jgeku tSls uketn flrkjs Fks] “kadj&t;fd”ku dk laxhr 
Fkk] ftudh yksdfç;rk mu fnuksa lkrosa vkleku ij Fkh vkSj blds xhr Hkh fQ+Ye ds çn”kZu ds iwoZ gh csgn 
yksdfç; gks pqds Fks] ysfdu bl fQ+Ye dks [kjhnus okyk dksbZ ugha FkkA njvly bl fQ+Ye dh laosnuk 
fdlh nks ls pkj cukus dk xf.kr tkuus okys dh le> ls ijs Fkh A mlesa jph&clh d:.kk rjktw ij 
rkSyh tk ldus okyh pht+ ugh aFkhA 
 
¼i½jktdiwj us “kSysanz dks fdl ckr ls vkxkg fd;k Fkk\ 

 ¼d½ fQ+Ye dk fdlh dks le> u vkus okyh ckr ls  
¼[k½ fQ+Ye ls dksbZ vkfFkZd ykHk u feyus okyh ckr ls  
¼x½ fQ+Ye fuekZ.k ls gksus okyh ijs”kkfu;ksa ls  
¼?k½ fQ+Ye dh laHkkfor vlQyrk ds [krjksa ls  
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¼ii½ “kSysanz dks fdl çdkj dk O;fDr ekuk tk ldrk gS\  
¼d½ dq”ky fQ+Ye fuekZrk 
¼[k½ çfln~/k vfHkusrk 
¼x½ vkn”kZoknh Hkkoqd dfo 
¼?k½ vkRe&larq’V O;fDr 
 

¼iii½ *rhljh dle* fQ+Ye dk nq[kn lR; D;k Fkk\ 
¼d½ fQ+Ye ds fy, [kjhnnkj dk u feyuk 
¼[k½ yksxksa dk fQ+Ye dks le> u ikuk 
¼x½ fQ+Ye dk lqugjs insZ ij u ig¡qp tkuk 
¼?k½ fQ+Ye dks çfln~/k fey tkuk 
 

¼iv½ “kSysanz dks fdl ckr dh dkeuk Fkh\ 
¼d½ vikj laifRr dh  
¼[k½ ;”k dh  
¼x½ vkRe&larqf’V dh  
¼?k½ yksdfç;rk dh  
 

¼v½ *mlesa* jph&clh d:.kk rjktw ij rkSyh tk ldus okyh pht+ ugha Fkh*&iafDr dk vk”k; gS& 
¼d½ ;g d:.kk vuqHkwfr dk fo’k; Fkh] uki&rksy dh ugha A 
¼[k½ ;g d:.kk cqn~f/k dk fo’k; Fkh] uki&rksy dh ugha A 
¼x½ ;g d:.kk dBksjrk dk fo’k; Fkh] uki&rksy dh ugha A 
¼?k½ ;g d:.kk O;kolkf;drk dk fo’k; Fkh] uki&rksy dh ugha A 
 

ç”uç”uç”uç”u    8888----    ikB~iqLrd *LikB~iqLrd *LikB~iqLrd *LikB~iqLrd *Li”kZ* i”kZ* i”kZ* i”kZ* xn~; [kaM ds ifBrxn~; [kaM ds ifBrxn~; [kaM ds ifBrxn~; [kaM ds ifBr    ikBksaaikBksaaikBksaaikBksaa    ijijijij    vk/kkfjrvk/kkfjrvk/kkfjrvk/kkfjr    pkjpkjpkjpkj    ç”uksaç”uksaç”uksaç”uksa    esa ls esa ls esa ls esa ls fdUghafdUghafdUghafdUgha    rhurhurhurhu    ç”uksa ds mRRkjç”uksa ds mRRkjç”uksa ds mRRkjç”uksa ds mRRkj    25&30 25&30 25&30 25&30 
    “kCnksa“kCnksa“kCnksa“kCnksa    esaesaesaesa    fyf[k, % fyf[k, % fyf[k, % fyf[k, %  

¼¼¼¼2222x3333¾¾¾¾6666½½½½    
¼d½ NksVs HkkbZ ds d{kk esa vOoy vkus ij Hkh cM+s HkkbZ lkgc n~okjk mlds frjLdkj ds D;k dkj.k Fks\ 
¼[k½ vaxzst ljdkj us dydRrkokfl;ks n~okjk eksuqesaV ikdZ esa vk;ksftr lHkk dks jksdus ds fy, D;k&D;k

 ç;kl fd,\ 
¼x½ i”kq ioZ esa vius Øks/k dk “keu djus ds fy, rrk¡jk us D;k fd;k\ 
¼?k½ “ks[k v;kt ds firk Hkkstu NksM+dj D;ksa mB [kM+s gq,\ blls muds O;fDrRo dh fdl fo”ks’krk dk irk 

 pyrk gS\ 
 

ç”u 9ç”u 9ç”u 9ç”u 9----    fuEufyf[krfuEufyf[krfuEufyf[krfuEufyf[kr    dkO;ka”kdkO;ka”kdkO;ka”kdkO;ka”k    dks i<+djdks i<+djdks i<+djdks i<+dj    iwNsiwNsiwNsiwNs    x, ç”uksa ds lokZf/kdx, ç”uksa ds lokZf/kdx, ç”uksa ds lokZf/kdx, ç”uksa ds lokZf/kd    mfprmfprmfprmfpr    mÙkjmÙkjmÙkjmÙkj    okysokysokysokys    fodYifodYifodYifodYi    pqudjpqudjpqudjpqudj    fyf[k,%fyf[k,%fyf[k,%fyf[k,%&&&& 

             ¼1¼1¼1¼1x5¾5½5¾5½5¾5½5¾5½ 

fopkj yks fd eR;Z gks u èR;q ls Mjks dHkh]  
ejks] ijarq ;ksa ejks fd ;kn tks djsa lHkhA 
gqbZ u ;ksa lqe`R;q rks o`Fkk ejs] òFkk ft,]  
ejk ugha ogh fd tks ft;k u vkids fy,A 
ogh Ik”kq&çòfRr gS fd vki vki gh pjs]  
ogh euq’; gS fd tks euq’; ds fy, ejs AA 
 

¼i½ dfo us fdldh e`R;q dks lqèR;q ekuk gS\ 
¼d½ ijksidkjh euq’; dh  
¼[k½ f”kf{kr euq’; dh 
¼x½ vehj euq’; dh 
¼?k½ LokFkhZ euq’; dh 
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¼ii½ dfo ds vuqlkj Ik”kq&ço`fRr D;k gksrh gS\ 
¼d½ nwljksa ds fy, thuk 
¼[k½ dsoy vius fy, thuk 
¼x½ ns”k ds fy, thuk 
¼?k½ buesa ls dksbZ ugha 
 
¼iii½ *ejk ugha ogh fd tks ft;k u vkids fy, iafDr dk D;k vk”k; gS\ 
¼d½ tks vius fy, thrk gS] og dHkh ugha ejrkA 
¼[k½ tks i”kqvksa dh Hkk¡fr thrk gSa] og dHkh ugha ejrkA 
¼x½ ftldh bPNk,¡ iwjh gks tkrh gSa] og dHkh ugha ejrkA 
¼?k½ tks viuk thou ijksidkj esa yxk nsrk gS] og dHkh ugha ejrkA  
 
¼iv½ *eR;Z* “kCn dk vFkZ D;k gS\ 
¼d½ ej.k”khy 
¼[k½ vejrk 
¼x½ lqèR;q 
¼?k½ thou  
 
¼v½ fuEufyf[krfuEufyf[krfuEufyf[krfuEufyf[kr    okD;ksaokD;ksaokD;ksaokD;ksa    dks /;kuiwoZd if<+,% dks /;kuiwoZd if<+,% dks /;kuiwoZd if<+,% dks /;kuiwoZd if<+,%  
 
¼I½ gekjk ejuk vkSj thuk lqèR;q ds dkj.k csdkj gks tkrk gSA 
¼II½ gekjk ejuk vkSj thuk lqe`R;q ugha gksus ds dkj.k csdkj gks tkrkgSA 
¼III½ gekjk ejuk vkSj thuk fu/kZu gksus ds dkj.k csdkj gks tkrk gSA 
¼IV½ gekjk ejuk vkSj thuk vlgk; gksus ds dkj.k csdkj gks tkrk gSA 
Ikn~;ka”k ls esy [kkrs okD;ksa ds fy, mfpr fodYi pqfu, & 
¼d½ dsoy ¼I½ 
¼[k½ dsoy ¼II½ 
¼x½ dsoy ¼III½ 
¼?k½ dsoy ¼IV½ 
 

ç”u 10ç”u 10ç”u 10ç”u 10----    ikB~;iqLrd *Li”kZ* ds dkO; [kaM dh ifBr dforkvksa ij vk/kkfjr pkj ç”uksa esa ls ikB~;iqLrd *Li”kZ* ds dkO; [kaM dh ifBr dforkvksa ij vk/kkfjr pkj ç”uksa esa ls ikB~;iqLrd *Li”kZ* ds dkO; [kaM dh ifBr dforkvksa ij vk/kkfjr pkj ç”uksa esa ls ikB~;iqLrd *Li”kZ* ds dkO; [kaM dh ifBr dforkvksa ij vk/kkfjr pkj ç”uksa esa ls fdUgha rhu ç”uksafdUgha rhu ç”uksafdUgha rhu ç”uksafdUgha rhu ç”uksa    ds ds ds ds 
    mRrj 25&30 “kCnksa esa fyf[k,%  mRrj 25&30 “kCnksa esa fyf[k,%  mRrj 25&30 “kCnksa esa fyf[k,%  mRrj 25&30 “kCnksa esa fyf[k,%                                  ¼¼¼¼2222x3¾63¾63¾63¾6½½½½ 
    

¼d½ dchj us bZ”ojh; fo;ksx ds laca/k esa D;k dgk gS\ 
¼[k½ Hkxr dkj.k :Ik ujgfj] /kj~;ks vki “kjhjA iafDr ls D;k rkRi;Z gS\  
¼x½ >jus fdlds xkSjo dk xku djrs gSa vkSj dSls\ 
¼?k½ daiuh ckx vkSj rksi dks fojklr D;ksa ekuk x;k \ 

    
ç”u 11ç”u 11ç”u 11ç”u 11----iwjd ikB~;iqLrd *lap;u* ds ifBr ikBksa ij viwjd ikB~;iqLrd *lap;u* ds ifBr ikBksa ij viwjd ikB~;iqLrd *lap;u* ds ifBr ikBksa ij viwjd ikB~;iqLrd *lap;u* ds ifBr ikBksa ij vk/kkfjr rhu ç”uksa esa ls k/kkfjr rhu ç”uksa esa ls k/kkfjr rhu ç”uksa esa ls k/kkfjr rhu ç”uksa esa ls fdUgha nks ç”uksafdUgha nks ç”uksafdUgha nks ç”uksafdUgha nks ç”uksa    ds mRrj 50&60 ds mRrj 50&60 ds mRrj 50&60 ds mRrj 50&60 
    “kCnksa esa fyf[k,%  “kCnksa esa fyf[k,%  “kCnksa esa fyf[k,%  “kCnksa esa fyf[k,%                                          ¼¼¼¼3333x2¾62¾62¾62¾6½½½½    
 

¼d½ QkSt esa HkrhZ djus ds fy, vQljksa ds lkFk ukSVadh okys D;ksa vkrs Fks \ 
¼[k½ ekLVj çhre pan ds O;fDrRo vkSj igukos dks Hk;Hkhr djus okyk D;ksa dgk x;k gS\ 
¼x½ gfjgj dkdk ds çfr muds Hkkb;ksa ds O;ogkj esa le; & le; ij D;k ifjorZu vk,¡ vkSj D;ksa\  
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[kaM&[kaM&[kaM&[kaM&^?k^^?k^^?k^^?k^    ¼¼¼¼jpukRed ys[kujpukRed ys[kujpukRed ys[kujpukRed ys[ku½½½½ 

    
    
ç”u 12ç”u 12ç”u 12ç”u 12----    fuEufyf[kr esa ls fdlh ,d fo’k; ij fn, x, ladsr fcanqvksa ds vk/kkj ij yxHkx 120 “kCnksa esa vuqPNsn fuEufyf[kr esa ls fdlh ,d fo’k; ij fn, x, ladsr fcanqvksa ds vk/kkj ij yxHkx 120 “kCnksa esa vuqPNsn fuEufyf[kr esa ls fdlh ,d fo’k; ij fn, x, ladsr fcanqvksa ds vk/kkj ij yxHkx 120 “kCnksa esa vuqPNsn fuEufyf[kr esa ls fdlh ,d fo’k; ij fn, x, ladsr fcanqvksa ds vk/kkj ij yxHkx 120 “kCnksa esa vuqPNsn 
            fyf[k,% fyf[k,% fyf[k,% fyf[k,%                                                 ¼¼¼¼5555½½½½    
    

¼d½ Hkkjr dh lkaLd`frd ,drk  

Lkadsr fcanqLkadsr fcanqLkadsr fcanqLkadsr fcanq    
• fHkUurk esa ,drk  
• lkaLd`frd fojklr  
• Hkkjrh; laLd`fr 

¼[k½ igyk lq[k & fujksxh dk;k    
Lkadsr fcanqLkadsr fcanqLkadsr fcanqLkadsr fcanq    
• vk”k;  
• O;k;ke vkSj LokLF;  
• lekt dks ykHk  

    
¼x½ tkuysok IykfLVd     

Lkadsr fcanqLkadsr fcanqLkadsr fcanqLkadsr fcanq    
• lLrk vkSj lgt miyC/krk ds dkj.k yksdfç;  
• nwf’kr jlk;uksa dh [kku  
• çfrca/k dh vkOk”;drk  

 
ç”u 13ç”u 13ç”u 13ç”u 13---- vki vk;kZ @vkjo gSaA vius fon~;ky; ds çkpk;Z dks fon~;ky; esa “krjat ds çf”k{k.k dh O;oLFkk djokus 
   dk fuosnu djrs gq, yxHkx 100 “kCnksa esa i= fyf[k,A       ¼5½¼5½¼5½¼5½ 

    vFkokvFkokvFkokvFkok    
 vki ek;k @eksgu gSa A “kgj esa ;krk;kr dh lqpk: O;oLFkk djus gsrq vius lq>ko nsrs gq, fdlh nSfud 
 lekpkj & i= ds laiknd dks yxHkx 100 “kCnksa esa i= fyf[k,A 
    
ç”u 14ç”u 14ç”u 14ç”u 14---- fon~;ky; ds [ksy lfpo dh vksj ls yxHkx 60 “kCnksa esa lwpuk fyf[k, fd uoha & nloha d{kk ds chp 
   vxys lIrkg varfoZn~;ky;h fØdsV eSp [ksyk tk,xkA       ¼4½¼4½¼4½¼4½ 

vFkokvFkokvFkokvFkok    
   vki vius fon~;ky; esa lkfgR; & Dyc *”kCn & f”kYih * ds lfpo gSaA “kfuokj dks vkxkeh lkfgfR;d 
   xfrfof/k;ksa ij ppkZ gsrq cSBd cqykbZ xbZ gS] bldh lwpuk yxHkx 60 “kCnksa esa fyf[k,A 
 
ç”u 15ç”u 15ç”u 15ç”u 15---- vkids firkth viuh iqjkuh dkj cspuk pkgrs gSaA bl gsrq 40 “kCnksa esa foKkiu rS;kj dhft,A  ¼3¼3¼3¼3½½½½ 

vFkokvFkokvFkokvFkok    
   varjkZ’Vªh; iks’kd vukt o’kZ 2024 ds çpkj &çlkj ds fy, 40 “kCnksa esa foKkiu rS;kj dhft,A 
 
ç”u 16ç”u 16ç”u 16ç”u 16---- vki “;ke@ “;kek gSaA vkokjk Ik”kqvksa ds dkj.k gksus okyh leL;kvksa dh tkudkjh ,oa jksdFkke ds fy, 
  vk;qDr uxj fuxe dks 80 “kCnksa esa bZ&esy fyf[k,A                          ¼¼¼¼5555½½½½    

vFkokvFkokvFkokvFkok    
Þ vc iNrk, gksr D;k] tc fpfM+;k pqx xbZ [ksrß & fo’k; ij yxHkx 100 “kCnksa esa y?kqdFkk fyf[k,A  
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DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 
HALF YEARLY EXAMINATION  (2024-25) 

 

 
Class - X                                                                   Subject – Introduction to Financial Markets  
Time – 2 Hours                                      Maximum Marks - 50 
   

General instructions 

1. Please read the instructions carefully. 
2. This Question Paper consists of 21 questions in two sections: Section A & Section B. 
3. Section A has Objective type questions whereas Section B contains Subjective type questions. 
4. Out of the given (5 + 16 =) 21 questions, a candidate has to answer (5 + 10 =) 15 questions in the 

allotted (maximum) time of 2 hours. 
5. All questions of a particular section must be attempted in the correct order. 
6. SECTION A - OBJECTIVE TYPE QUESTIONS (24 MARKS): 

i. This section has 05 questions. 
ii. Marks allotted are mentioned against each question/part.  
iii. There is no negative marking. 
iv. Do as per the instructions given. 

7. SECTION B - SUBJECTIVE TYPE QUESTIONS (26 MARKS): 
i. This section has 16 questions. 
ii. A candidate has to do 10 questions.  
iii. Do as per the instructions given. 
iv. Marks allotted are mentioned against each question/part. 

 

---------------------------------------------------------------------------------------------------------------------------------------------- 

SECTION A: OBJECTIVE TYPE QUESTIONS 

Q1. Answer any 4 out of the given 6 questions on Employability Skills   (1 x 4 = 4 marks) 

(i) How do we improve our ability to work independently? (any two)     [1] 

(ii) Which of the following is NOT an element of communication within the communication 

process cycle?            [1] 

(a) Channel   (b) Receiver   (c) Sender   (d) Time 

(iii)  __________ is one of the most effective stress-relieving techniques.    [1] 

(iv) Write the important elements of a paragraph.        [1] 

(v) Identify the different parts of a sentence.        [1] 

(vi) Explain how to build on your strengths and overcome your weaknesses.    [1] 

Q2. Answer any 5 out of the given 6 questions      (1 x 5 = 5 marks)  

(i) What is the full form of ETF?          [1] 

(ii) Which is the first Mutual Fund established in India?       [1] 

(a) SBI Mutual Fund  

(b) Kothari Mutual Fund  

(c) UTI  

(d) Aditya Birla Sun Life AMC Ltd.  
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(iii) ________is basically an organisation, which helps register and safeguard the securities of 
    its clients.              [1] 

 

(iv) What is 'Commodity Exchange’?         [1] 

(v) How do I know if the broker and sub-broker is registered?      [1] 

(vi) Define the term ADS.           [1] 

Q3. Answer any 5 out of the given 6 questions      (1 x 5 = 5 marks) 

(i) What is the full form of NEAT?         [1] 

(ii) A listed Company makes either a fresh issue securities to the public or an offer for sale to 

  the public, through an offer document.         [1] 

(a) Rights Issue   (b) IPO  (c) Private Placements  (d) Further Issue (FPO) 

(iii) Owners of shares are entitled to a dividend or dividend calculated at a fixed rate to be    
 paid regularly.            [1] 

(iv) Write the name of two factors that influence the price of a stock.     [1] 

(v) What is the maximum brokerage that a broker can charge?       [1] 

(vi) What is meant by Growth Stock?         [1] 

Q4. Answer any 5 out of the given 6 questions      (1 x 5=5 marks) 

(i) Write the full form of DCA          [1] 

(ii) "Its regulatory jurisdiction covers corporate in the issuance of capital and transfer of  

 securities, in addition to all intermediaries and persons associated with securities 

 market.”             [1] 

(a) IRDA   (b) SEBI  (c) RBI    (d) PFRDA 

(iii) The market value of a quoted company, which is calculated by multiplying its current 

 share price (market price) by the number of shares in issue is called as ____________  [1] 
 

(iv) How long does it take to get the shares listed after issue?      [1] 

(v) What does ‘Delisting of securities’ mean?        [1] 

(vi) What does 'Demutualisation of stock mean?        [1] 

Q5. Answer any 5 out of the given 6 questions         (1x5=5 marks) 

 (i) What is an ISIN?            [1] 

(ii) Which of the following is not a part of the Money Market?      [1] 

(a) Commercial Papers (b) Treasury Bills  (c) Derivatives   (d) None of these 

(iii) ___________ is a fixed income (debt) instrument issued for a period of more than one year 

 with the purpose of raising capital.         [1] 

(iv) Who regulates the Securities Market?         [1] 

(v) What is meant by Issue price?          [1] 

(vi) Name the process by which electronic holdings can be converted into Physical Certificates. 

[1] 
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SECTION B: SUBJECTIVE TYPE QUESTIONS 

Answer any 3 out of the given 5 questions on Employability Skills (2 x 3 = 6 marks) 

Answer each question in 20-30 words 

Q6. Explain two techniques of Stress Management?        [2] 

Q7. Differentiate between Interest and Ability (Strength).       [2] 

Q8. List the difference between active and passive voice.       [2] 

Q9. Explain two barriers to effective communication.        [2] 

Q10. Explain three importance of feedback.         [2] 

Answer any 4 out of the given 6 questions in 20-30 words each (2 x 4 = 8 marks) 

Q11. Write the analogy between Bank and Depository?       [2] 

Q12. What do you know about Rolling Settlement of Trading?      [2] 

Q13. Can You Define Pay-in and Pay-out of Securities?       [2] 

Q14. Define the term Cut off Price.          [2] 

Q15. What is Contract Note?           [2] 

Q16. Define Bid and Ask Price.           [2] 

Answer any 3 out of the given 5 questions in 50-80 words each   (4 x 3 = 12 marks) 

Q17. What factors determines the interest rate?         [4] 

Q18. What are various short-term financial options available for investments?    [4] 

Q19. Write statutory powers of SEBI.          [4] 

Q20. Write short notes on: (a) Cumulative Preference shares (b) Bonus Shares (c) Right   [4]

  Issue/Shares 

Q21. What are the precautions an investor should bear in mind when investing in the stock 

 market?             [4] 
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           SAIL TOWNSHIP, RANCHI 

                 HALF YEARLY EXAMINATION  (2024-25) 
 
 

Class - X                                                                              Subject: Mathematics  
Time - 3 Hours                                                     Maximum Marks: 80 
   

 

General Instructions: 

Read the following instructions carefully and follow them  

(i) This question paper contains 38 questions. All questions are compulsory. 
(ii) This question paper is divided into FIVE Sections - Section A, B, C, D and E. 
(iii) In Section-A question number 1 to 18 are Multiple Choice Questions (MCQs) and question number 19 

and 20 are Assertion - Reason based questions of 1 mark each. 
(iv) In Section –B question number 21 to 25 are Very Short-Answer-I (VSA – I) type questions of 2 marks 
 each. 
(v) In Section – C question number 26 to 31 are Short Answer – II (SA – II) type questions carrying 3 marks 

each. 
(vi) In Section –D question number 32 to 35 are Long –Answer (LA) type questions carrying 5 marks each. 
(vii) In Section –E question number 36 to 38 are case study type questions carrying 4 marks each. 

 

SECTION-A 

1. If p and q are two natural numbers and p is a multiple of q, then what is the HCF of p and q? 

(a) pq    (b) p    (c) q    (d) p + q  

2. The largest number which divides 70 and 125 leaving remainders 5 and 8 respectively is    

(a) 13   (b) 65    (c) 875   (d) 1750   

3. The quadratic polynomial, the sum of whose zeros is -5 and their product is 6, is  

(a) x2 + 5x + 6   (b) x2 - 5x + 6  (c) x2 -5x - 6   (d) - x2 + 5x + 6.  

4. If 
2

𝑥
+

3

𝑦
= 13  𝑎𝑛𝑑 

5

𝑥
−

4

𝑦
=  −2 , then (x+y) equals  

(a) 
1

6
    (b) −

1

6
   (c) 

5

6
    (d) −

5

6
 

5. The value of K for which the pair of equations Kx = y + 2 and 6x = 2y + 3 has infinitely many 

 solutions is  

(a) K=3    (b) K=4  (c) K = −3   (d) does not exist 

6. The roots of the equation 𝑥2 + 3𝑥 − 10 = 0 are  

(a) 2,-5    (b) -2,5   (c) 2,5    (d)-2,-5  

7. If 𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0, has equal roots, then value of c is  

(a) −
𝑏

2𝑎
     (b) 

𝑏

2𝑎
   (c) −

𝑏2

4𝑎
  (d) 

𝑏2

4𝑎
 

8. If nth term of an AP is 3n+7, then its common difference is  

(a) 7   (b) 3    (c) 3n    (d) 1  
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9. The sum of n terms of the series √3 + √12 + √27 + √48 + ……………………..is  

(a) 
2𝑛(𝑛+1)

√3
    (b) 

√3𝑛(𝑛−1)

2
  (c) 

√3𝑛(𝑛+1)

2
  (d) 

2𝑛(𝑛−1)

√3
   

10. The distance between the points (𝑎𝑐𝑜𝑠𝜃 + 𝑏𝑠𝑖𝑛𝜃, 0) and (0, 𝑎𝑠𝑖𝑛𝜃 − 𝑏𝑐𝑜𝑠𝜃) is   

(a) 𝑎2 + 𝑏2  (b) a + b   (c) 𝑎2 − 𝑏2   (d) √𝑎2 + 𝑏2  

11. If ABC and DEF are similar triangles such that ∠A=47° and ͬ∠E= 73°, then ∠C=?  

(a) 60°     (b) 50°   (c) 70°   (d) 80° 

12. In the following figure, Q is a point on PR and S is a point TR. QS is drawn and ∠RPT=∠RQS  

Which of these criteria can be used to prove that ∆RSQ is similar to ∆𝑅𝑇𝑃?  

 

 

 

 

 

 

(a) AA similarity criterion  (b) SAS similarity Criterion   

(c) SSS similarity criterion  (d) None of these. 

13. The value of  
2𝑡𝑎𝑛30°

1−𝑡𝑎𝑛230°
 is equal to  

(a) cos 60°   (b) sin 60°   (c) tan 60°    (d) sin 30°  

 14. If cos2θ + 2sin2θ + 3cos2θ + 4sin2θ + ⋯ 200 terms = 10025, where θ is acute then the value of  

              sinθ − cosθ is  

(a) 
1−√3

2
   (b) 

1+√3

2
   (c) 

√3−1

2
   (d) 0 

15. A die is thrown once. The probability of getting a prime number is  

(a) 
2

3
   (b) 

1

3
   (c) 

1

2
    (d) 

1

6
   

16. Which of the following numbers cannot be the probability of happening of an event ?  

(a) 0   (b) 
7

0.01
   (c) 0.07    (d) 

0.07

3
 

17. A square ABCD is inscribed in a circle of radius 'r'. The area of square is  

(a) 3𝑟2    (b) 2𝑟2   (c) 4𝑟2    (d) 𝑟2  

18. If the circumference of two circles are in the ratio 4 : 5 then their areas are in the ratio  

(a) 16:25   (b) 25:16   (c) 2: √5    (d) 4:5  

ASSERTION-REASON BASED QUESTIONS 
In the following questions, a statement of assertion (A) is followed by a statement of Reason 

(R). 

Choose the correct answer out of the following choices. 

(a) Both A and R are true and R is the correct explanation of A. 
(b) Both A and R are true but R is not the correct explanation of A. 
(c) A is true but R is false. 
(d) A is false but R is true. 
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19. Assertion (A): If the graph of the polynomial f(x) = 𝑎𝑥2 + 𝑏𝑥 + 𝑐, a > 0 touches  x - axis at its 

           lowest point, then its zeros are equal to 
−𝑏

2𝑎
 

 Reason (R): If the graph of a quadratic polynomial touches   x – axis, then its zeros are  

       equal.  

20. Assertion (A): If the points A (4,3) and B (x, 5) lie on a circle with centre O (2,3) then the value 

           of x is 2.  

Reason (R): Centre of a circle is the midpoint of each chord of the circle.  

SEECTION – B 

21. Explain whether 12𝑛 can end with the digit 0 for any natural number n.  

22. Cards numbered 7 to 40 were put in a box. Poonam selected a card at random. What is the 

 probability that Poonam selected a card which is a multiple of 7? 

23. If the equation (1+m2) x2 + 2mcx + (c2- a2) = 0 has equal roots, then show that c2=a2 (1+m2).  

OR 

Calculate the square root of discriminant of given quadratic equation 
 𝑝2𝑥2 + (𝑝2 − 𝑞2)𝑥 − 𝑞2 =  0. 

24. In triangle ABC right angled at B, if 𝑡𝑎𝑛𝐴 =
1

√3
 .Find the value of 𝑠𝑖𝑛𝐴. 𝑐𝑜𝑠𝐶 + 𝑐𝑜𝑠𝐴. 𝑠𝑖𝑛𝐶 

OR 

 If tan(A+B)=√3 and tan(A-B) =
1

√3
 ;     0 < A + B ≤ 90°   , A > B, find A and B. 

25. Find the number of natural numbers between 101 and 999 which are divisible by both 2 and 5. 

      SECTION – C      

26. Find a quadratic polynomial whose zeros are reciprocals of the zeros of the polynomial 

 𝑓(𝑥) = 𝑎𝑥2 + 𝑏𝑥 + 𝑐, 𝑎 ≠ 0, 𝑐 ≠ 0.  

27. Solve the following linear equations 152𝑥 − 378𝑦 = −74  

                           −378𝑥 + 152𝑦 = −604 
     OR  

Find c if the system of equations 𝑐𝑥 + 3𝑦 + (3 − 𝑐) = 0;      12𝑥 + 𝑐𝑦 − 𝑐 = 0  has infinitely 

 many solutions. 

28. If P divides the line segment joining the points 𝐴(−1,3) 𝑎𝑛𝑑 𝐵 (9,8) such that 
𝐴𝑃

𝐵𝑃
=

𝑘

1
. If P lies 

 on the line 𝑥 − 𝑦 + 2 = 0, find the value of k. 
OR  

Find the lengths of the medians of a ∆𝐴𝐵𝐶 whose vertices are 

 𝐴(7, −3),            𝐵(5, 3)     𝑎𝑛𝑑    𝐶(3, −1). 

29. In fig. 
𝑃𝑆

𝑆𝑄
=

𝑃𝑇

𝑇𝑅
 , 𝑎𝑛𝑑 ∠PST = ∠PRQ. Prove that ∆𝑃𝑄𝑅 is an isosceles triangle. 
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30. In Fig. a sector OAP of a circle with centre O, containing angle 𝜃. AB is perpendicular to the 

 radius OA and meets OP produced at B. Prove that the perimeter of the shaded region is 

 𝑟[𝑡𝑎𝑛𝜃 + 𝑠𝑒𝑐𝜃 +
𝜋𝜃

180°
− 1] 

 

 

 

 

 

 

31. Solve the equation  1 + 5 + 9 + 13 + ⋯ + 𝑥 = 1326. 

SECTION - D  

32. Solve the following system of linear equations graphically: 𝑥 − 𝑦 = 1 𝑎𝑛𝑑  2𝑥 + 𝑦 = 8. Shade 

 the area bounded by these two lines and y – axis. Also determine its area. 

33. Rs. 9000 were divided equally among a certain number of persons. Has there been 20 more 

 persons, each would have got Rs.160 less. Find the original number of persons. 

34. In the given figure, CM and RN are respectively the medians of △ABC and △ PQR.  

 If △ABC  ~ △PQR, Prove that  

(i) △ AMC ~  △PNR  

(ii) 
𝐶𝑀

𝑅𝑁
=

𝐴𝐵

𝑃𝑄
 

(iii) △CMB ~ △RNQ 

OR 

ABCD is a parallelogram, P is a point on side BC and DP when produced meets AB produced 

 at L. Prove that  

(i) 
𝐷𝑃

𝑃𝐿
=

𝐷𝐶

𝐵𝐿
    (ii)  

𝐷𝐿

𝐷𝑃
=

𝐴𝐿

𝐷𝐶
 

 

35. Prove that  

 
tan θ

1−cot θ
+

cot θ

1−tan θ
= 1 + secθ. cosec θ = 1 + cot θ + tan θ 

OR 

Prove that 

 
𝑡𝑎𝑛2𝐴

𝑡𝑎𝑛2𝐴−1
+

𝑐𝑜𝑠𝑒𝑐2𝐴

𝑠𝑒𝑐2𝐴−𝑐𝑜𝑠𝑒𝑐2𝐴
=

1

1−2𝑐𝑜𝑠2𝐴
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36. In an annual day function of a school, the organizers wanted to give a cash prize along with a 

memento to their best students. Each memento is made as shown in the figure and its base 

ABCD is shown from the front side. The rate of silver plating is Rs.20 per cm2. 

Based on the above, answer the following questions: 

 

 

 

 

 

(i) What is the area of the quadrant ODCO?        (1) 

(ii) Find the area of △AOB.          (1)  

(iii) What is the total cost of silver plating the shaded part ABCD?     (2)  
 

OR 

(iii) What is the perimeter of the shaded reason.        (2) 

37. Jagdish has a field which is in the shape of a right angled triangle AQC. He wants to leave a 

space in the form of a square PQRS inside the field for growing wheat and the remaining for 

growing vegetables (as shown in the figure). In the field, there is a pole marked as O. 

 

 

 

 

 

 

 

 

Based on the above, answer the following questions: 

(i) Taking O as origin, coordinates of P are (−200,0)𝑎𝑛𝑑 𝑄𝑎𝑟𝑒 (200,0) PQRS being a square, 

what are the coordinates of R and S?         (1) 

(ii) What is the area of square PQRS?         (1) 

(iii) What is the length of diagonal PR in square PQRS?       (2) 

OR 

(iii)  If B divides CA in the ratio k:1, What is the value of k.       (2) 

38. An interior designer, Sana, hired two painters, Manan and Bhima to make paintings for her 

 buildings. Both painters were asked to make 50 different paintings each. 

The prices quoted by both the painters are given below: 
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 Manan asked for Rs. 6000 for the first painting, and an increment of Rs 200 for each following 

painting. 

 Bhima asked for Rs. 4000 for the first painting and an increment of Rs 400 for each following 

painting. 

(i) How much money did Manan get for his 25th painting?     (1) 

(ii) How much money did Bhima get in all?       (1) 

(iii)  If both Manan and Bhima make paintings at the same pace , find the first painting for 

which Bhima will get more money than Manan.       (2) 

     OR  

(iii) Sann’s friend, Aarti hired Manan and Bhima to make paintings for her at the same rates 

as for Sana. Aarti had both painters make the same number of paintings and paid them 

the exact same amount in total. How many paintings did Aarti get each painter to make? 

Show your work.           (2)
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[k.M% ^d*[k.M% ^d*[k.M% ^d*[k.M% ^d*    
vifBr&vocks/kue~vifBr&vocks/kue~vifBr&vocks/kue~vifBr&vocks/kue~    ¿10 vadk%À¿10 vadk%À¿10 vadk%À¿10 vadk%À    

    

iz’u 1 v/kksfyf[kra x|ka’ka ifBRok funsZ’kkuqlkje~ mRrjrAiz’u 1 v/kksfyf[kra x|ka’ka ifBRok funsZ’kkuqlkje~ mRrjrAiz’u 1 v/kksfyf[kra x|ka’ka ifBRok funsZ’kkuqlkje~ mRrjrAiz’u 1 v/kksfyf[kra x|ka’ka ifBRok funsZ’kkuqlkje~ mRrjrA                                
vfrçkphudkys Jo.ke~ ,o çèkkua fo|klkèkue~ vklhr~A dkyØes.k ys[kui)fr% vjCèkkA bnkuhe~ x.kd;U=;qxe~ 
vfLrA x.kd;U=}kjk èofu;U=}kjk p vfo"—rs n'kZuJo.kekè;es bnkuha fo|klkèkus Lr%A fde~ ,"kk çfØ;k ekuo 
lektL; fodkla çn'kZ;fr vFkok fodkje~ bfr rkor~ fpUruh;e~A xqjks% eq[kkr~ Jo.ka] xq#% lfUuèkkua] f'k";L; 
voèkkua] xq#f'k";;ks% okRlY;a p KkulEiknua iks"k;fr] dnkfpr~ f'k";L; vuoèkkus xq#% re~ lkoèkkua djksfr LeA 
xqjks% lfUuèkkus f'k";% vkReh;rka okRlY;a p vuqHkofr LeA ;a=ekè;esu Jo.ks rq u lkoèkkurk;k% cksèk%A u 
vkReh;kuqHko%A vr% ;U=a JqRok Kkua nqyZHke~ ,oA O;fäRo&fuekZ.ka p vfi nqyZHke~A xqjks% lfUuèkkus f'k";% u 
dsoye~ Kkua çkIuksfr] vfi rq lnkpkja lkFkZdthou&fuokZg–f"Va p vfi cksèkfrA f'k";L; 
'kkjhfjd&ekufldfodklk; xq#f'k";;ks% lEcUèk% vko';d%A 
    

1 ,dinsu mRrjrA ¼dsoya iz’u};e~½1 ,dinsu mRrjrA ¼dsoya iz’u};e~½1 ,dinsu mRrjrA ¼dsoya iz’u};e~½1 ,dinsu mRrjrA ¼dsoya iz’u};e~½                                ¿¿¿¿1x2=2222ÀÀÀÀ    
d- dkyØes.k dk vkjCèkk \ 
[k- fde~ JqRok Kkua nqyZHke~ Hkofr \ 
x- vfrçkphudkys çèkkua fo|klkèkua fde~ vklhr~ \ 
    

2 iw.kZokD;su mRrjrA ¼dsoya iz’u};e~½2 iw.kZokD;su mRrjrA ¼dsoya iz’u};e~½2 iw.kZokD;su mRrjrA ¼dsoya iz’u};e~½2 iw.kZokD;su mRrjrA ¼dsoya iz’u};e~½                                ¿¿¿¿ 2x2=4444ÀÀÀÀ    
d- xq#f'k";;ks% lacaèk% fdeFkZe~ vko';d% \ 
[k- xqjks% lfUuèkkus f'k";% fde~ vuqHkofr Le \ 
x- bnkuhe~ dfr fo|klkèkus Lr% \ 
 

3 vL; vuqPNsnL; mfpra 'kh"kZda fy[krA 3 vL; vuqPNsnL; mfpra 'kh"kZda fy[krA 3 vL; vuqPNsnL; mfpra 'kh"kZda fy[krA 3 vL; vuqPNsnL; mfpra 'kh"kZda fy[krA                             ¿¿¿¿ 1x1=1111ÀÀÀÀ    
    

4 funsZ’kkuqlkje~ mRrjr A ¼dsoya iz’u=;e~½4 funsZ’kkuqlkje~ mRrjr A ¼dsoya iz’u=;e~½4 funsZ’kkuqlkje~ mRrjr A ¼dsoya iz’u=;e~½4 funsZ’kkuqlkje~ mRrjr A ¼dsoya iz’u=;e~½                            ¿¿¿¿ 1x3=3333ÀÀÀÀ    
d- ^^çkIuksfrçkIuksfrçkIuksfrçkIuksfr** bfr fØ;k;k% drZ`ine~ fde~ \ 
   ¿vÀ Kkue~   ¿cÀ f’k”;%  ¿lÀ dsoye~  ¿nÀ lnkpkje~ 
[k- ^^lehislehislehislehis** bfr inL; v= i;kZ;ina fde~ \ 
   ¿vÀ Jo.ke~   ¿cÀ fuekZ.ke~  ¿lÀ fo/kkue~  ¿nÀ lfUuèkkue~ 
x- ^^çfØ;kçfØ;kçfØ;kçfØ;k** vL; inL; fo’ks”k.kaa fde~ \ 
   ¿vÀ fde~   ¿cÀ ,"kk   ¿lÀ çfØ;k  ¿nÀ ekuo%    
?k- ^^lqyHke~lqyHke~lqyHke~lqyHke~** bfr inL; foykseina x|ka’ks fde~ iz;qDre~ \ 
   ¿vÀ okRlY;e~   ¿cÀ vkReh;rke~   ¿lÀ nqyZHke~   ¿nÀ vkReh;kuqHkoe~ 
 

 

 



 
    

[k.M% ^[k*[k.M% ^[k*[k.M% ^[k*[k.M% ^[k*    

jpukRed&dk;Ze~ ¿15 vadk%ÀjpukRed&dk;Ze~ ¿15 vadk%ÀjpukRed&dk;Ze~ ¿15 vadk%ÀjpukRed&dk;Ze~ ¿15 vadk%À    

iz'u 2iz'u 2iz'u 2iz'u 2    gfj;k.kk'kgfj;k.kk'kgfj;k.kk'kgfj;k.kk'kklusu vfLeu~ o"kZs vDVwcj ekls klusu vfLeu~ o"kZs vDVwcj ekls klusu vfLeu~ o"kZs vDVwcj ekls klusu vfLeu~ o"kZs vDVwcj ekls rrrrhhhhjankth {ks=s mRjankth {ks=s mRjankth {ks=s mRjankth {ks=s mR————"V çn'kZukFkZe~ vtZquiqjLdkj% çnkL;rsA rL;So "V çn'kZukFkZe~ vtZquiqjLdkj% çnkL;rsA rL;So "V çn'kZukFkZe~ vtZquiqjLdkj% çnkL;rsA rL;So "V çn'kZukFkZe~ vtZquiqjLdkj% çnkL;rsA rL;So     

lwpukFkZa Hkors bna i=a 'kklue~ vfy[kr~A eatw"kk;k% lgk;r;k Hkoku~ rRi=a iwj;rqAlwpukFkZa Hkors bna i=a 'kklue~ vfy[kr~A eatw"kk;k% lgk;r;k Hkoku~ rRi=a iwj;rqAlwpukFkZa Hkors bna i=a 'kklue~ vfy[kr~A eatw"kk;k% lgk;r;k Hkoku~ rRi=a iwj;rqAlwpukFkZa Hkors bna i=a 'kklue~ vfy[kr~A eatw"kk;k% lgk;r;k Hkoku~ rRi=a iwj;rqA            ¿¿¿¿ ½x10=5555ÀÀÀÀ    

 

lsok;e~] 
Jh nyohj flag% 
18@3 ¼2½ &&&&&&&&&&  
fljlk uxje~ fiu% 172001 
 

fo"k;% & ¼3½ &&&&&&&&&& Hkors vtZquiqjLdkj% nkL;rs bfr lwpukFkZe~A 
 

ekU;oj] 
lçse ueLdkj%A 
lg"kZe~ vga HkoUrfena ¼4½ &&&& ;r~ Hkor% ‘kjlU/kku{ks=s ¼rhjankth {ks=s½ mR—"Vrk;k% ¼5½ &&&& gfj;k.kk 
'kklusu vfLeu o"kZs Hkors ¼6½ &&&&& çnkrqe~ fu.kZ;e~ —re~ A v;a iqjLdkj% Hkors ¼7½ &&&&&&& ekls 
p.Mhx<+ fLFkrs jktHkous çnkL;rsA vr% Hkoku~ rR—rs lTth ¼8½ &&&&&&&& bfr fuosn;kfeA rkfjdk;k% 
lwpuka ¼9½ &&&&&&&&&& çnkL;kfeA 
¼10½ &&&&&&&&&&A 
fuosnd% 
pj.kthr vk;Z% 
lfpo%  
     eatw”kkeatw”kkeatw”kkeatw”kk    
 

 
 

iz’u 3 v/kksnRra fp=a n`”V~ok eatw”kkr% ‘kCiz’u 3 v/kksnRra fp=a n`”V~ok eatw”kkr% ‘kCiz’u 3 v/kksnRra fp=a n`”V~ok eatw”kkr% ‘kCiz’u 3 v/kksnRra fp=a n`”V~ok eatw”kkr% ‘kCna fpRok iap okD;kfu jp;rAna fpRok iap okD;kfu jp;rAna fpRok iap okD;kfu jp;rAna fpRok iap okD;kfu jp;rA                    ¿¿¿¿ 1x5=5555ÀÀÀÀ    

 

 

 

 

 

 
 

eatw”kkeatw”kkeatw”kkeatw”kk    
    

vFkokvFkokvFkokvFkok    
ifjokjL;] vklfUndk] Qykfu] dqoZfUr] tye~] lnL;k%] dj.Mds] fr"BfUr] LFkkY;ke~] ik=kf.k] 

ckyd%] i';fr] çlUufpÙkk] gLrs] tyik=e~] e¥~pds] –';UrsA 

i’pkr~]  l/kU;okne~]  iapdqyk] vDVwcj] Hkorq] iapoVhdkyksuh] vtZquiqjLdkj%] fuosn;kfe] dkj.ksu] i’pkr~]  l/kU;okne~]  iapdqyk] vDVwcj] Hkorq] iapoVhdkyksuh] vtZquiqjLdkj%] fuosn;kfe] dkj.ksu] i’pkr~]  l/kU;okne~]  iapdqyk] vDVwcj] Hkorq] iapoVhdkyksuh] vtZquiqjLdkj%] fuosn;kfe] dkj.ksu] i’pkr~]  l/kU;okne~]  iapdqyk] vDVwcj] Hkorq] iapoVhdkyksuh] vtZquiqjLdkj%] fuosn;kfe] dkj.ksu] 
gfj;k.kk'kklusuAgfj;k.kk'kklusuAgfj;k.kk'kklusuAgfj;k.kk'kklusuA    

çs"kd% 
[ksy ea=ky;% gfj;k.kk'kklue~ 
¼1½ &&&&&&&&&& uxje~ gfj;k.kk 
fnukad% &&&&&&&&&&&& fiu% 135426 
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eatw”kk;k% lgk;r;k ^^eatw”kk;k% lgk;r;k ^^eatw”kk;k% lgk;r;k ^^eatw”kk;k% lgk;r;k ^^i;ZVue~i;ZVue~i;ZVue~i;ZVue~** bfr fo”k;e~ vf/kd`R; laLd`rHkk”kk;ka iap okD;kfu fy[krA** bfr fo”k;e~ vf/kd`R; laLd`rHkk”kk;ka iap okD;kfu fy[krA** bfr fo”k;e~ vf/kd`R; laLd`rHkk”kk;ka iap okD;kfu fy[krA** bfr fo”k;e~ vf/kd`R; laLd`rHkk”kk;ka iap okD;kfu fy[krA        

eatw”kkeatw”kkeatw”kkeatw”kk    
 

    

    

iz’u 4 iz’u 4 iz’u 4 iz’u 4 v/kksfyf[krv/kksfyf[krv/kksfyf[krv/kksfyf[krkfukfukfukfu    okD;kfu laLd`r Hkk”kk;ke~ vuqokne~ d`Rok fy[kr AokD;kfu laLd`r Hkk”kk;ke~ vuqokne~ d`Rok fy[kr AokD;kfu laLd`r Hkk”kk;ke~ vuqokne~ d`Rok fy[kr AokD;kfu laLd`r Hkk”kk;ke~ vuqokne~ d`Rok fy[kr A    ¼dspu iap½ ¼dspu iap½ ¼dspu iap½ ¼dspu iap½             ¿¿¿¿ 1x5=5555ÀÀÀÀ    

d- vkt yksx fo|k dk egRRo tkurs gSaA 

[k- nsojkt bUnz Hkh ijes’oj dks iwtrs FksA 

x- izfriy Hkxoku dh HkfDr djuh pkfg,A 

?k- Nk=thou ekuothou dh vk/kkjf’kyk gSA 

³- lkalkfjd lq[kksa dk ewy izlUurk o ‘kkfUr gSA 

p- Jhjke o Jhd̀”.k Hkkjrh; laLd̀fr ds vk/kkj LraHk FksA 
    

    
[k.M% ^x*[k.M% ^x*[k.M% ^x*[k.M% ^x*    

vuqiz;qDr&O;kdj.ke~vuqiz;qDr&O;kdj.ke~vuqiz;qDr&O;kdj.ke~vuqiz;qDr&O;kdj.ke~    ¿25 vadk%À¿25 vadk%À¿25 vadk%À¿25 vadk%À    
    

    

iz’u 5 v/kksfyf[krkuka iz’u 5 v/kksfyf[krkuka iz’u 5 v/kksfyf[krkuka iz’u 5 v/kksfyf[krkuka js[kkafdr&js[kkafdr&js[kkafdr&js[kkafdr&inkuka lfU/kinkuka lfU/kinkuka lfU/kinkuka lfU/kaa aa    lfU/kfoPNsna ok d`Rok lfU/kfoPNsna ok d`Rok lfU/kfoPNsna ok d`Rok lfU/kfoPNsna ok d`Rok fy[krA fy[krA fy[krA fy[krA ¼¼¼¼dsoua dsoua dsoua dsoua iz’uprq”V;e~iz’uprq”V;e~iz’uprq”V;e~iz’uprq”V;e~½½½½        ¿¿¿¿ 1x4=4444ÀÀÀÀ    
d- v;ksX;% iq#”k% ukfLr ;kstdLr=;kstdLr=;kstdLr=;kstdLr= nqyZHk%A 

[k- Ro;k egRdkSrqde~ vkosfnre~ ;Uek;Uek;Uek;Uekuq”kknfi foHksf”k\ 

x- O;k?kzekjh dkfpr~ $ bdkfpr~ $ bdkfpr~ $ bdkfpr~ $ b;e~;e~;e~;e~ eRok O;k?kzks Hk;kdqyfpRrks u”V%A 

?k- yadknkg&le;s losZ·fi uopRokfja’kr~ okrk%okrk%okrk%okrk%    $$$$    okfUrokfUrokfUrokfUr LeA 

³- ,r;ks;Zfn,r;ks;Zfn,r;ks;Zfn,r;ks;Zfn firqfuZjuqdzks’k% rfgZ vu;kstZuuh voekfurk L;kr~A 
    

    

iz’u 6 v/kiz’u 6 v/kiz’u 6 v/kiz’u 6 v/kksfyf[krokD;s”kq js[kkafdrins”kqksfyf[krokD;s”kq js[kkafdrins”kqksfyf[krokD;s”kq js[kkafdrins”kqksfyf[krokD;s”kq js[kkafdrins”kq    lekla foxzga ok dq#rAlekla foxzga ok dq#rAlekla foxzga ok dq#rAlekla foxzga ok dq#rA        ¼¼¼¼dsoya dsoya dsoya dsoya iz’uprq”V;e~½iz’uprq”V;e~½iz’uprq”V;e~½iz’uprq”V;e~½            ¿¿¿¿ 1x4=4444ÀÀÀÀ    
d- ihrkEcj%ihrkEcj%ihrkEcj%ihrkEcj% gfj% {khjlkxjs ‘ksrsA 
   ¿vÀ ihre~ vEcj%  ¿cÀ ihre~ vEcja ;% l% ¿lÀ ihrkfu vEcjkf.k ¿nÀ ihre~ vEcja ;L; l% 
[k- Jhjke% e`xL; i’pkr~e`xL; i’pkr~e`xL; i’pkr~e`xL; i’pkr~ xPNfrA 
   ¿vÀ ;Fkke`xe~  ¿cÀ vuqe`xe~  ¿lÀ mie`xe~  ¿nÀ izfre`xe~ 
x- ,dr% rkilkS yodq’kkSyodq’kkSyodq’kkSyodq’kkS izfo’kr%A 
   ¿vÀ dq’k’p yo’p  ¿cÀ yokS p dq’kkS p ¿lÀ yo’p dq’k’p ¿nÀ yoa dq’ka p  
?k- dke% jtksxq.kkr~ leqjtksxq.kkr~ leqjtksxq.kkr~ leqjtksxq.kkr~ leqRiUuRiUuRiUuRiUu%%%% HkofrA 
   ¿vÀ jtksxq.kleqRiUu%  ¿cÀ jtksxq.kksleqRiUu% ¿lÀ jtksxq.kkRleqRiUu% ¿nÀ jtl% xq.kkr~ leqRiUu% 
³- lqjfHkopualqjfHkopualqjfHkopualqjfHkopua JqRok fofLerL; vk[k.MyL; vfi g`n;e~ vnzor~A 
   ¿vÀ lqjH;k opue~  ¿cÀ lqjHks% opue~ ¿lÀ lqjHkhe~ opue~ ¿nÀ lqjfHk% opue~  

    

    
    

jksekapdkfj]  lq[knkf; p]  Hkofr]  tukuke~]  euksjatue~]  ekuldhe~]  ‘kkfUre~]  {kerk;k%]  o`f)%]  
O;kikjksUufr%]  i;ZVu&m|ksx%]  le`)% vHkor~A 
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iz’u 7 v/kksfyf[krokD;s”kq js[kkafdrinkuka izd̀frizR;;kS la;ksT; iz’u 7 v/kksfyf[krokD;s”kq js[kkafdrinkuka izd̀frizR;;kS la;ksT; iz’u 7 v/kksfyf[krokD;s”kq js[kkafdrinkuka izd̀frizR;;kS la;ksT; iz’u 7 v/kksfyf[krokD;s”kq js[kkafdrinkuka izd̀frizR;;kS la;ksT; foHkT; ok fy[krAfoHkT; ok fy[krAfoHkT; ok fy[krAfoHkT; ok fy[krA    ¼¼¼¼dsoua dsoua dsoua dsoua iz’uprq”V;e~½iz’uprq”V;e~½iz’uprq”V;e~½iz’uprq”V;e~½    ¿¿¿¿ 1x4=4444ÀÀÀÀ    

d- fofp=kfofp=kfofp=kfofp=k [kyq nSoxfr%A 
   ¿vÀ fofp=r $ ry~  ¿cÀ fofp= $ Vki~ ¿lÀ fofp= $ Y;i~ ¿nÀ fofp= $ DRok 
[k- v| ee lIr $ Bd~lIr $ Bd~lIr $ Bd~lIr $ Bd~ vodk’k% vfLrA 
   ¿vÀ lIrbd%   ¿cÀ lIrBd%  ¿lÀ lIrkfgd%  ¿nÀ lkIrkfgd% 
x- cqf)eUr%cqf)eUr%cqf)eUr%cqf)eUr% tuk% lnSo lQyk% HkofUrA 
   ¿vÀ cqf) $ eUr%  ¿cÀ cqf)r~ $ vUr% ¿lÀ cqf) $ erqi~ ¿nÀ cqf) $ Ro 
?k- rnsokgq% egkReku% leRoe~leRoe~leRoe~leRoe~ bfr rF;r%A 
   ¿vÀ leRo $ Roe~  ¿cÀ le $ Roe~  ¿lÀ le $ ry~  ¿nÀ le $ Ro 
³- ee lR;filR;filR;filR;fizzzz;rk;rk;rk;rk rq tukuka d`rs mnkgj.k Lo:ik orZrsA 
   ¿vÀ lR;fiz;r $ Vki~ ¿cÀ lR;fiz; $ Y;i~ ¿lÀ lR;fiz; $ ry~ ¿nÀ lR;fiz; $ vk  

    

iz’u 8 v/kksfyf[kra le;a ǹ”V~ok laLd̀r ine~ fy[krAiz’u 8 v/kksfyf[kra le;a ǹ”V~ok laLd̀r ine~ fy[krAiz’u 8 v/kksfyf[kra le;a ǹ”V~ok laLd̀r ine~ fy[krAiz’u 8 v/kksfyf[kra le;a ǹ”V~ok laLd̀r ine~ fy[krA        ¼dspu pRokj%¼dspu pRokj%¼dspu pRokj%¼dspu pRokj%½½½½                    ¿¿¿¿ 1x4=4444ÀÀÀÀ    
d- o;e~ ¼4%45½ &&&&&&&&&& mfRr”Bke%A 
[k- o;e~ ¼6%30½ &&&&&&&&&& fo|ky; xeuk; lTtk% Hkoke%A 
x- o;e~ ¼7%15½ &&&&&&&&&& r% ¼1%15½ &&&&&&&&&& i;ZUre~ fofo/k&fo”k;ku~ iBke%A 
?k- o;e~ ¼8%00½ &&&&&&&&&& r% ¼9%00½ &&&&&&&&&& ;kor~ nwjn’kZus lekpkjku~ i’;ke%A 
³- o;e~ lk;e~ ¼9%30½ &&&&&&&&&& r% izkr% ¼4%00½ &&&&&&&&&& ;kor~ funzka LohdqeZ%A 

    

iz’u 9 v/kksfyf[krkfu js[kkafdrkfu inkfu la’kks/; fy[krAiz’u 9 v/kksfyf[krkfu js[kkafdrkfu inkfu la’kks/; fy[krAiz’u 9 v/kksfyf[krkfu js[kkafdrkfu inkfu la’kks/; fy[krAiz’u 9 v/kksfyf[krkfu js[kkafdrkfu inkfu la’kks/; fy[krA        ¼dspu =;%¼dspu =;%¼dspu =;%¼dspu =;%½½½½                    ¿¿¿¿ 1x3=3333ÀÀÀÀ    
 d- vfXu% ‘khryk‘khryk‘khryk‘khryk HkofrA 

   ¿vÀ nqcZy%   ¿cÀ ‘khrye~  ¿lÀ ‘khry%  ¿nÀ ‘khryk; 
[k- vkoke~ g~;% ,o ef.kiqjr% vkxfe”;ke%vkxfe”;ke%vkxfe”;ke%vkxfe”;ke%A 
   ¿vÀ vxPNr~   ¿cÀ vxPNrke~  ¿lÀ vxPNko  ¿nÀ vxPNke 
x- ee lehis }kn’k iqLrdk%iqLrdk%iqLrdk%iqLrdk% lfUrA 
   ¿vÀ iqLrds”kq   ¿cÀ iqLrds  ¿lÀ iqLrdkfu  ¿nÀ iqLrde~ 
?k- o;e~ ,dL; Nk;k;qDrL; o`{kL; v/k% Hkkstue~ vdqoZu~vdqoZu~vdqoZu~vdqoZu~A 
   ¿vÀ vdjkse   ¿cÀ vdoZe~  ¿lÀ vdq#r  ¿nÀ vdqeZ  

     
iz’u 10 v/kksfyf[kra okD;iz’u 10 v/kksfyf[kra okD;iz’u 10 v/kksfyf[kra okD;iz’u 10 v/kksfyf[kra okD;aa aa    mmmmfprfprfprfprsH;% sH;% sH;% sH;% fodYisH;% iwjf;Rok fy[krAfodYisH;% iwjf;Rok fy[krAfodYisH;% iwjf;Rok fy[krAfodYisH;% iwjf;Rok fy[krA        ¼dspu =;%¼dspu =;%¼dspu =;%¼dspu =;%½½½½                ¿¿¿¿ 1x3=3333ÀÀÀÀ    

d- ;ksfxjktsu &&&&&&&&&& ¼d`”.k½ dF;rsA 
   ¿vÀ d̀”.k%   ¿cÀ d`”.ke~  ¿lÀ d`”.ksu  ¿nÀ d`”.kk; 
[k- f’k{kdk% rku~ lokZu~ Nk=ku~ &&&&&&&&&& ¼laLd`r½ ikB;fUrA 
   ¿vÀ laLd`r%   ¿cÀ laLd`re~  ¿lÀ laLd`rsu  ¿nÀ laLd̀rk; 
x- rkfHk% &&&&&&&&&& dwikr~ tye~ vkuh;rsA 
   ¿vÀ efgyS%   ¿cÀ efgykr~  ¿lÀ efgykfHk%  ¿nÀ efgykH;% 
?k- vLekfHk% egko`{kk% &&&&&&&&&&A 
   ¿vÀ lsforO;%  ¿cÀ lsforO;k  ¿lÀ lsforO;kS  ¿nÀ lsforO;k% 
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iz'u 11 v/kksfyf[kra okD;a eatw”kkr% vO;; inkfu iz'u 11 v/kksfyf[kra okD;a eatw”kkr% vO;; inkfu iz'u 11 v/kksfyf[kra okD;a eatw”kkr% vO;; inkfu iz'u 11 v/kksfyf[kra okD;a eatw”kkr% vO;; inkfu fpRok fjDrLFkkukfu iwj;rAfpRok fjDrLFkkukfu iwj;rAfpRok fjDrLFkkukfu iwj;rAfpRok fjDrLFkkukfu iwj;rA    ¼dspu =;%¼dspu =;%¼dspu =;%¼dspu =;%½½½½                                    ¿¿¿¿ 1x3=3333ÀÀÀÀ    
d- &&&&&&&&&&&& v’kksd% uke izrkih jktk vklhr~A 
   ¿vÀ ;nk   ¿cÀ rnk   ¿lÀ dnk  ¿nÀ iqjk 
[k- l% nhu% bfr tkuu~ &&&&&&&&&&&& d̀”kd% ra cgq/kk ihM;frA 
   ¿vÀ vfi   ¿cÀ ,o   ¿lÀ o`Fkk  ¿nÀ lglk 
x- ;=kLrs lk /kwrkZ &&&&&&&&&&&& xE;rke~A 
   ¿vÀ vU;=   ¿cÀ r=   ¿lÀ loZ=  ¿nÀ r=R; 
?k- O;k?kzks·fi &&&&&&&&&&&& u”V% xyc)% J`xkyd%A 
   ¿vÀ vfi   ¿cÀ lglk  ¿lÀ o`Fkk  ¿nÀ v/kquk 

    

[k.M% ^?k*[k.M% ^?k*[k.M% ^?k*[k.M% ^?k*    
ifBr&vocks/kue~ ¿30 vadk%ÀifBr&vocks/kue~ ¿30 vadk%ÀifBr&vocks/kue~ ¿30 vadk%ÀifBr&vocks/kue~ ¿30 vadk%À    

iz’u 12 v/kksfyf[kra x|k’ka ifBRok iz’u 12 v/kksfyf[kra x|k’ka ifBRok iz’u 12 v/kksfyf[kra x|k’ka ifBRok iz’u 12 v/kksfyf[kra x|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krAiz’ukuke~ mRrjkf.k fy[krAiz’ukuke~ mRrjkf.k fy[krAiz’ukuke~ mRrjkf.k fy[krA                            
^^cgwU;iR;kfu es larrhfr lR;e~A rFkkI;gesrfLeu~ iq=s fo'ks"k vkReosnukuqHkokfeA ;rks fg v;eU;sH;ks nqcZy%A 
loZsLoiR;s"kq tuuh rqY;oRlyk ,oA rFkkfi nqcZys lqrs ekrq% vH;fèkdk —ik lgtSo** bfrA lqjfHkopua JqRok Hk`"ka 
fofLerL;k[kaMyL;kfi ân;eæor~A l p rkesoelUo;r~&^^xPN oRls! loZa Hkæa tk;srA** vfpjknso p.Morsu 
es?kjoS'p lg ço"kZ% lektk;r~A yksdkuka i';rke~ ,o loZ= tyksiIyo% latkr%A —"kd% g"kkZfrjsds.k 
vkd"kZ.kfoeq[k% lu~ o`"kHkkS uhRok x`gexkrA 
 

1 ,dinsu mRrjrA1 ,dinsu mRrjrA1 ,dinsu mRrjrA1 ,dinsu mRrjrA    ¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½                                ¿¿¿¿ ½x2=1111ÀÀÀÀ    
d- loZs”oiR;s"kq tuuh dh–'kh Hkofr\ 
[k- dq= tyksiIyo% latkr%\ 
x- o`"kHkkS uhRok d% x`gexkr\ 
 

2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA    ¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½                            ¿¿¿¿ 1x2=2222ÀÀÀÀ    
d- dL; opua JqRok Hk`"ka fofLerL;k[k.MyL;kfi ân;eæor~\ 
[k- l% v[k.My% dFka re~ vlURo;r~\ 
x- vfpjknso dFke~ ço"kZ% lektk;r\ 
 

3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA        ¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½                            ¿¿¿¿ 1x2=2222ÀÀÀÀ    
d- ^^tud%**^^tud%**^^tud%**^^tud%** bfr inL; foi;Z;ikna fde~\ 
[k- ^^^^^^^^'kh?kz'kh?kz'kh?kz'kh?kze~**e~**e~**e~** bfr inL; i;kZ;ina fde~ iz;qDre~\ 
x- ^^,rfLeu~ iq=s**^^,rfLeu~ iq=s**^^,rfLeu~ iq=s**^^,rfLeu~ iq=s** v= fo'ks"kina fde~ vfLr\ 
 

iz’u 13 v/kksfyf[kra ukV~;k’ka iz’u 13 v/kksfyf[kra ukV~;k’ka iz’u 13 v/kksfyf[kra ukV~;k’ka iz’u 13 v/kksfyf[kra ukV~;k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krAifBRok iz’ukuke~ mRrjkf.k fy[krAifBRok iz’ukuke~ mRrjkf.k fy[krAifBRok iz’ukuke~ mRrjkf.k fy[krA        
jke%& ,"k Hkorks% lkSUn;Zoyksdtfursu dkSrwgysu i`PNkfe&{kf=;dqy&firkeg;ks% lw;ZpUæ;ks% dks ok 
 HkorksoZa’kL; drkZ\ 
yo%& Hkxou~ lglznhfèkfr%A 
jke%& dFkeLeRlekukfHktukS lao`ÙkkS\ 
fonw"kd%& fda };ksjI;sdeso çfropue~\ 
yo%& Hkkjrjkoke~ lksn;kSZA 
jke%& le:i% 'kjhjlfUuos'k%A o;lLrq u fdafpnUrje~A 
yo%&  vkoke~ ;eykSA 
jke%& lEçfr ;qT;rsA fda ukeèks;e~\ 
yo%& vk;ZL; oUnuk;ke~ yo bR;kRekua Jko;kfe ¼dq'ka fufnZ";½ vk;kZs·fi xq#pj.koUnuk;ke~ &&&& 
dq'k%& vge~ vfi dq’k bR;kRekua Jko;kfeA 
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1 ,dinsu mRrjrA 1 ,dinsu mRrjrA 1 ,dinsu mRrjrA 1 ,dinsu mRrjrA ¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½                                ¿¿¿¿ ½x2=1111ÀÀÀÀ    
d- {kf=;dqyL; firkegkS dkS Lr%\ 
[k- jkeL; oa'kL; drkZ d%\ 
x- ^^fda uke/ks;e~** bfr d% i`PNfr \ 
    
2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA        ¼dsoya iz’u};e~½ ¼dsoya iz’u};e~½ ¼dsoya iz’u};e~½ ¼dsoya iz’u};e~½                             ¿¿¿¿ 1x2=2222ÀÀÀÀ    
d- dq'kyo;ks% eè;s dh–'kh lekurk vklhr~\ 
[k- jke% fdeFkZa r;ks% dqyfo"k;s vi`PNr~\ 
x- dq’kyokS dL; oUnuk;ke~ vkRekua Jko;r% \ 
    
3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA        ¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½                            ¿¿¿¿ 1x2=2222ÀÀÀÀ    
d- v= ^^;qxykS**^^;qxykS**^^;qxykS**^^;qxykS** bR;FkZs fda ina iz;qDre~\ 
[k- ^^Hkkuq%**^^Hkkuq%**^^Hkkuq%**^^Hkkuq%** bfr inL; d% i;kZ;% v= iz;qDr%\ 
x- ukV~;ka’ks ^^lkSUn;kZoyksdtfursu**^^lkSUn;kZoyksdtfursu**^^lkSUn;kZoyksdtfursu**^^lkSUn;kZoyksdtfursu** bfr fo’ks”k.kL; fo’ks”;ina fde~\ 

    
iz’u 14 v/kksfyf[kra i|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krAiz’u 14 v/kksfyf[kra i|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krAiz’u 14 v/kksfyf[kra i|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krAiz’u 14 v/kksfyf[kra i|k’ka ifBRok iz’ukuke~ mRrjkf.k fy[krA                            

ok;qe.Mya Hk`"ka nwf”kra u fg fueZya tye~A 
dqfRlroLrqfefJra Hk{;a leya /kjkrye~AA 

dj.kh;a cfgjUrtZxfr rq cgq'kq)hdj.ke~A 'kqfp---॥  
    

1 ,dinsu mRrjrA1 ,dinsu mRrjrA1 ,dinsu mRrjrA1 ,dinsu mRrjrA    ¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½                                ¿¿¿¿ ½x2=1111ÀÀÀÀ    
d- tya dh–'ka u vfLr\ 

[k- leya fde~ vHkor~\ 

x- Hk̀"ka nwf”kra fde~ vfLr\ 
    

2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA2 iw.kZokD;su mRrjrA        ¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½                            ¿¿¿¿ 1x2=2222ÀÀÀÀ    
d- euq";S% fda dj.kh;e~\ 

[k- Hk{;a dh–'ka tkre~\ 

x- 'kq)hdj.ka dq= dj.kh;e~\ 
    

3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA3 funsZ’kkuqlkje~ mRrjrA        ¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½¼dsoya iz’u};e~½                            ¿¿¿¿ 1x2=2222ÀÀÀÀ    
d- ^^cgq**^^cgq**^^cgq**^^cgq** bfr inL; i;kZ;ina fdefLr\ 

[k- ^^vUr%**^^vUr%**^^vUr%**^^vUr%** bfr inL; foykseikna fde~\ 

x- ^^tye~**^^tye~**^^tye~**^^tye~** bfr inL; fo'ks"k.kina fde~\ 
    

iz’u 15 js[kkafdrinkfu vk/k`R; mfpra iz’ufuekZ.ka d`Rok fy[krAiz’u 15 js[kkafdrinkfu vk/k`R; mfpra iz’ufuekZ.ka d`Rok fy[krAiz’u 15 js[kkafdrinkfu vk/k`R; mfpra iz’ufuekZ.ka d`Rok fy[krAiz’u 15 js[kkafdrinkfu vk/k`R; mfpra iz’ufuekZ.ka d`Rok fy[krA    ¼dspu pRokj%½¼dspu pRokj%½¼dspu pRokj%½¼dspu pRokj%½                ¿¿¿¿ 1x4=4444ÀÀÀÀ    
d- lqjkf/ki% rke~rke~rke~rke~ vi`PNr~A 
[k- euq”;% vkReu% Js;%Js;%Js;%Js;% bPNfrA 
x- ew[kkZ%ew[kkZ%ew[kkZ%ew[kkZ% ew{kSZ% lg vuqoztfUrA 
?k- ekrq% lqjHks% us=;ks% vJwf.kvJwf.kvJwf.kvJwf.k vkfolkju~A 
³- Hkxoku~Hkxoku~Hkxoku~Hkxoku~ okYehfd% o/kw% bfr vkg~o;frA 
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iz’u 16 iz’u 16 iz’u 16 iz’u 16 v/kksfyf[kra dkO;ka’ka ifBRok vUo;a iwjf;Rok fy[kr Av/kksfyf[kra dkO;ka’ka ifBRok vUo;a iwjf;Rok fy[kr Av/kksfyf[kra dkO;ka’ka ifBRok vUo;a iwjf;Rok fy[kr Av/kksfyf[kra dkO;ka’ka ifBRok vUo;a iwjf;Rok fy[kr A                        ¿¿¿¿ 1x4=4444ÀÀÀÀ    

vkyL;a fg euq”;k.kka ‘kjhjLFkks egku~ fjiq%A 
ukLR;q|eleks cU/kq% d`Rok ;a ukolhnfrAA 
    

vuO;%&vuO;%&vuO;%&vuO;%& ¼1½ &&&&&&&&&&&&&& fg euq”;k.kke~ ¼2½ &&&&&&&&&&&&&& egku~ fjiq% vfLrA 
m|ele% ¼3½ &&&&&&&&&&&& u vfLr ;a ¼4½ &&&&&&&&&&&& euq”;% u volhnfrA 

    

eatw”kkeatw”kkeatw”kkeatw”kk    
 

    
 

vFkokvFkokvFkokvFkok    
v/kksfyf[kra dkO;ka’ka ifBRok eatw”kkr% ‘kCna fpRok HkkokFkZa iziw;Z fy[kr Av/kksfyf[kra dkO;ka’ka ifBRok eatw”kkr% ‘kCna fpRok HkkokFkZa iziw;Z fy[kr Av/kksfyf[kra dkO;ka’ka ifBRok eatw”kkr% ‘kCna fpRok HkkokFkZa iziw;Z fy[kr Av/kksfyf[kra dkO;ka’ka ifBRok eatw”kkr% ‘kCna fpRok HkkokFkZa iziw;Z fy[kr A                    

            

bR;qDRok /kkfork rw.kZa O;k?kzekjh Hk;adjkA 
O;k?kzks·fi lglk u”V% xyc)% J`xkyd%AA 
 

    
HkkokFkZ%&HkkokFkZ%&HkkokFkZ%&HkkokFkZ%&        O;k?kza izfr ladsrsu dFkf;Rok lk ¼1½ &&&&&&&& ‘kh?kze~ v/kkor~A l% ¼2½ &&&&&&&& vfi  

        rL;k% opua JqRok rR{k.ksu rsu ¼3½ &&&&&&&&& J`xkysu lg ¼4½ &&&&&&&&&& v/kkor~A 
    

eatw”kkeatw”kkeatw”kkeatw”kk    
 

    

    
iz’u 17 v/kksfyf[krkfu okD;kfu iz’u 17 v/kksfyf[krkfu okD;kfu iz’u 17 v/kksfyf[krkfu okD;kfu iz’u 17 v/kksfyf[krkfu okD;kfu ?kVukdzekuqlkje~ fy[krA?kVukdzekuqlkje~ fy[krA?kVukdzekuqlkje~ fy[krA?kVukdzekuqlkje~ fy[krA                        ¿¿¿¿ ½x8=4444ÀÀÀÀ    

d- O;k?kz% O;k?kzekjh b;fefr eRok iykf;r%A  
[k- izR;qRiUefr% lk Ük̀xkye~ vkf{kiUrh mokpA 
x- tEcqdÑrksRlkg% O;k?kz% iqu% dkuue~ vkxPNr~A  
?k- ekxsZ lk ,da O;k?kze~ vi';r~A  

³- O;k?kza n`"V~ok lk iq=kS rkM;Urh mokp&v/kquk ,deso O;k?kz% foHkT; HkqT;rkeA  
p- cqf)erh iq=};su misrk firqxZ̀ga izfr pfyrkA 
N- ^Roa O;k?kz=;e~ vkusrqa* izfrKk; ,deso vkuhroku~A  
t- xyc)&Ük`xkyd% O;k?kz% iqu% iykf;r%A  

    
iz’u 18 v/kksfyf[krkfu js[kkafdrinkfu vk/k`R; fodYisH;% mfprkFkZa fpRok fy[iz’u 18 v/kksfyf[krkfu js[kkafdrinkfu vk/k`R; fodYisH;% mfprkFkZa fpRok fy[iz’u 18 v/kksfyf[krkfu js[kkafdrinkfu vk/k`R; fodYisH;% mfprkFkZa fpRok fy[iz’u 18 v/kksfyf[krkfu js[kkafdrinkfu vk/k`R; fodYisH;% mfprkFkZa fpRok fy[krA krA krA krA ¼dspu =;%½¼dspu =;%½¼dspu =;%½¼dspu =;%½        ¿¿¿¿ 1x3=3333ÀÀÀÀ    

d- ,dkUrs dkUrkjsdkUrkjsdkUrkjsdkUrkjs {k.kefi lapj.ka L;kr~A 
   ¿vÀ lnus   ¿cÀ dkuus  ¿lÀ xgus  ¿nÀ Hkous 
[k- o`{kksifj fofo/kk% if{k.k%if{k.k%if{k.k%if{k.k% glfUrA 
   ¿vÀ dfj.k%   ¿cÀ e”kdk%  ¿lÀ [kxk%  ¿nÀ v’ok% 
x- ,d% nqcZy% cyhonZ%cyhonZ%cyhonZ%cyhonZ% HkwekS iikrA 
   ¿vÀ xkS%   ¿cÀ /ksuq%   ¿lÀ efg”k%  ¿nÀ o`”kHk% 
?k- QyPNk;klefUor% o`{k%o`{k%o`{k%o`{k% lsforO;%A 
   ¿vÀ Qye~   ¿cÀ dq#%  ¿lÀ [kx%  ¿nÀ r#% 

-----------------------------------------XX-----------------------------------------    

    xyc)su]  u”V%]  O;k?kzekjh]  O;k?kz%Axyc)su]  u”V%]  O;k?kzekjh]  O;k?kz%Axyc)su]  u”V%]  O;k?kzekjh]  O;k?kz%Axyc)su]  u”V%]  O;k?kzekjh]  O;k?kz%A 

    d`Rok]  d`Rok]  d`Rok]  d`Rok]  ‘kjhjLFk%]  cU/kq%]  vkyL;e~A‘kjhjLFk%]  cU/kq%]  vkyL;e~A‘kjhjLFk%]  cU/kq%]  vkyL;e~A‘kjhjLFk%]  cU/kq%]  vkyL;e~A 
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 DELHI PUBLIC SCHOOL 
SAIL TOWNSHIP, RANCHI 

HALF YEARLY EXAMINATION   (2024-25) 

 
Class - X                                                                                    Subject – Science  
Time – 3 Hours                                                                        Maximum Marks- 80 
   

 

General Instructions: 
i. This question paper consists of 39 questions in 5 sections. 
ii. All questions are compulsory. However, an internal choice is provided in some questions. A 
student is expected to attempt only one of these questions. 
iii. Section A consists of 20 objective type questions carrying 1 mark each. 
iv. Section B consists of 6 Very Short Answer questions carrying 02 marks each. Answers to these 
questions should be in the range of 30 to 50 words. 
v. Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to these 
questions should be in the range of 50 to 80 words. 
vi. Section D consists of 3 Long Answer type questions carrying 05 marks each. Answer to these 
questions should be in the range of 80 to 120 words. 
vii. Section E consists of 3 source-based/case-based units of assessment of 04 marks each with sub-
parts. Internal choice is provided in one of these sub parts. 
 

SECTION A    [1x20=20] 

1. Select from the following, a decomposition reaction which uses light energy.    [1] 

(a) Decomposition of lead nitrate 

(b) Decomposition of water 

(c) Decomposition of sliver bromide 

(d) Decomposition of ferrous sulphate. 

2. Which of the following is a double displacement reaction ?      [1] 

(a) Reaction of quick lime with water . 

(b) Reaction of Zn metal with CuSO4 solution. 

(c) Reaction of Iron metal with water and air. 

(d) Reaction of BaCl2 and Na2SO4 solutions. 

3. CuO + H2  → Cu + H2O.Identify the oxidant and the reductant for the given reaction   [1] 

(a) H2,CuO 

(b) CuO,H2 

(c) H2O, Cu 

(d) Cu ,H2O 

4. A _______solution which turns phenolphthalein pink from colourless     [1] 

(a) Lime juice 

(b) Ammonia 

(c) Sugar 

(d) Vinegar 
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5. Choose the incorrect statement:-          [1] 

(a) Acids are sour substances 

(b) Most acids evolve hydrogen gas on reacting with metals like Mg,Zn and Al 

(c) As the hydronium ion concentration increases, pH of the acid increases. 

(d) Acids turn blue litmus solution to red. 

6. _________ is used for the treatment of acidity in stomach.       [1] 

(a) NaOH 

(b) NH4OH 

(c) Mg(OH)2 

(d) Cu(OH)2 

7. The property of carbon atom by virtue of which it forms bond with other carbon atoms is called 

(a) Allotropy   

(b) Polymerisation 

(c) Carbonization 

(d) Catenation             [1] 

8. In the following flowchart showing autotrophic nutrition in green plants, A and B   respectively 
 are              [1]
        

(a) Oxygen and energy 

(b) Starch and oxygen 

(c) Energy and starch 

(d) Oxygen and water 

 

9. In a neuron, conversion of electrical signal to a chemical signal occurs at/in    [1] 
(a) Cell body 
(b) Axonal end 
(c) Dendritic end 
(d) Axon  

10.  Refer to the given flowchart and select the option that correctly identifies X and Y   [1] 

        

 

 

 

 

 X Y 

(a) Ethanol + CO2 Lactic acid 

(b) Lactic acid Ethanol 

(c) Ethanol + CO2 CO2 + H2O 

(d) Lactic acid CO2 + H2O 
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11. Which of the following statement(s) is (are) true about human heart?     [1] 

(i) Right atrium oxygenated blood from lungs through pulmonary artery 
(ii) Left atrium transfer oxygenated blood to left ventricle which sends it to various parts of the 

 body. 
(iii) Right atrium receives deoxygenated blood from different parts of the body through vena 

 cava. 
(iv) Left atrium transfers oxygenated blood to aorta which sends to different parts of the body 

 

(a) only (ii) 
(b) (i) and (iv) 
(c) (ii) and (iii) 
(d) (ii) and (iv)  

12. The growth of a pollen tube towards ovules is due to       [1] 
(a) hydrotropism 
(b) chemotropism 
(c) geotropism 
(d) phototropism            

          
13. If an incident ray passes through the centre of curvature of a spherical mirror, the reflected ray 
 will              [1] 

(a) pass through the pole    
(b) pass through the focus  
(c) retrace its path    
(d)  be parallel to the principal axis           

14. Which of the following lenses would be the best to use while reading small letters found in a 
 dictionary?             [1] 

(a) A convex lens of focal length 50 cm  
(b) A concave lens of focal length 50 cm 

(c) A convex lens of focal length 5 cm 
(d) A concave lens of focal length 5 cm          

15. In a person, the tubule part of the nephron is not functioning at all. What will be its effect on 
 urine formation?            [1] 

(a) The urine will not be formed 
(b) Quality and quantity of urine is unaffected 
(c) Urine is more concentrated 
(d) Urine is more diluted           

16. Choose the correct order of the stages of binary fission in Leishmania     [1] 

 

 

 

 

(a) I, II, III, IV, V 
(b) I, III, II, V, IV 
(c) I, III, V, II, IV 
(d) I, II, III, V, IV 
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Following questions consist of two statements – Assertion (A) and use (R). Answer these 
questions selecting the appropriate option given below: 
(a) Both A and R are true and R is the correct explanation of A. 
(b) Both A and R are true but R is not the correct explanation of A. 
(c) A is true but R is false. 
(d) A is false but R is true. 

17. Assertion (A):  Carbon doesn’t form C4− easily. 

Reason R): Removal of the four valence electrons would require large amount of energy.  [1] 

18. Assertion (A): The rate of breathing in aquatic organisms is much slower than that seen in  
           terrestrial organisms.       
 Reason (R) : The amount of oxygen dissolved in water is very low as compared to the amount 
        of oxygen in air.          [1] 
 

19. Assertion (A): Tungsten metal is used for making filaments of incandescent lamps.    

Reason (R): The melting point of tungsten is very low.       [1] 

20. Assertion (A): Offspring produced by asexual reproduction are genetically similar to the  
         parents. 

Reason (R): Asexual reproduction involves a single parent.      [1] 

     
SECTION B [2x6=12] 

21. (a) Give names of the -OH and –CO-- functional  group.       [1] 

      (b) Why does carbon atom form a strong covalent bond with other elements?   [1] 

                                                     OR 

(a) How will you distinguish between saturated and unsaturated carbon compounds 

chemically ?            [1] 

(b) Define tetravalency           [1] 

22. Where are auxins synthesized? How do they promote phototropism?                  [2] 

23. A person suffering from liver disease is advised to avoid fatty and highly acidic foods. 
Give a reason, why each of the foods mentioned should be avoided by a person suffering from 

 liver disease?            [2] 
       OR 

Given below is a table representing the characteristics of two fluids involved in the 

transportation of substances in the human body. 

Fluid A Fluid B 

Colourless  Coloured 

Contains less oxygen Contains more oxygen 

Contains less protein Contains more protein 

(i) Identify fluid A and fluid B. 

(ii) What role does fluid A play in the digestion of food in humans? 

24. A ray of light enters into benzene from air. If the refractive index of benzene is 1.50, by what 
 percent does the speed of light reduce on entering the benzene?     [2] 
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25. A student uses spectacles of focal length – 2.5 m.        [2] 

(i) Name the defect of vision he is suffering from.  

(ii) List two main causes of developing this defect. 

OR 

How will you use two identical prisms so that a narrow beam of white light incident on one 
prism emerges out of the second prism as white light? Draw the diagram 

26. (i) Identify whether budding as seen in Hydra is a type of sexual or asexual reproduction. Give 
 reason for your answer. 

(ii) How is this process different from fission?        [2] 

SECTION C [3x7=21] 

27. A solution of a substance ‘x’ is used for white washing. 

(a)  Name the substance ‘x’ and write its formula.       [1] 

(b) Write the reaction of ‘x’ with water.        [1] 

(c) Why is respiration considered to be an exothermic reaction?     [1] 

28. (a) Name an ore of mercury and give its formula.       [1] 

(b) Complete and balance the following :- ZnS + O2→      [1] 

      (c) Why do ionic compounds not conduct electricity in solid state ?    [1] 

29. The digestion in stomach is taken care of by the gastric glands present in the wall of the 
 stomach. 

(a) What is the composition of gastric juice? 
(b) What would happen, if HCl is not secreted? 
(c) Hydrochloric acid is very acidic (pH-2), but does not erode the inner lining of the stomach 

wall. Why?             [3] 
           
30. (a) Some situations in our day to day life require quick response from our body. Illustrate the 
 sentence with the help of suitable diagram when we unknowingly step on a sharp nail. 

(b) Why is the flow of signals in a synapse from the axonal end of one neuron to the dendritic 
end of another neuron but not the reverse?        [3] 

31. In the figure given below, a narrow beam of white light is shown to pass through a triangular 
 glass prism. After passing through the prism, it produces a spectrum XY on the screen.  [3] 

(i) Name the phenomenon. 

(ii) State the colours seen at X and Y. 

(iii) Why do different colours of white light bend at 

 different angles through a prism? 

 

32. A security mirror used in a big showroom has radius of curvature 5 m. If a customer of height 

 174cm is standing at a distance of 20 m from the mirror,  

(i) Find the position of the image formed in the security mirror.  

(ii) Find the nature and size of the image formed in the security mirror. 

(iii) Draw a labelled ray diagram to justify your inferences.      [3] 
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33. A lens produces a magnification of (−0.5). 
(i) Is this a converging or diverging lens?  
(ii) If the focal length of the lens is 6 cm, draw a ray diagram showing the image formation in 

 this case. 
(iii) Also calculate Power of the given lens with appropriate sign.     [3] 

SECTION D [5x3=15] 
 

34. (a) Complete the following equation:-           [1+1+2+1] 

     Fe +H2O (g)→ 

    (b) Why does Nitric acid not give hydrogen gas with most of the metals ? 
     (c)  Give the chemical reactions to show that Al2O3 is an amphoteric metal oxide. 

(d)  Aluminium is a highly reactive metal, yet it is used to make cooking utensils. Give               
 reason. 

OR 

(a) Give the balanced chemical reaction for thermit reaction 
(b)  Why is Na and K metal stored in kerosene ? 
(c) Show the formation of Na2O by transfer of electrons. 
(d) Give the constituents of solder . 

35. All the reproductive methods of living organisms are broadly categorised into two types:   
(a) Asexual reproduction 
(b) Sexual reproduction 
Asexual reproduction involves the participation of a single parent without the formation of 
gametes, fertilisation and transfer of genetic material. This method is a common means of 
rapidly increasing offspring under favourable conditions 
(i) (a) Name the type of fission that occurs in Leishmania and Plasmodium 

(b) Write one advantage of sexual mode of reproduction over asexual reproduction 

(ii) Give reasons, why? 
(a) Colonies of yeast fail to multiply in water, but multiply in sugar solution. 
(b) Rhizopus individuals do not grow on a dry slice of bread.  

 

(iii) Name the filamentous structure a student could identify when he collected water from a 
pond that appeared dark green. How do these organisms multiply? Explain.   [5] 

OR 

(i) Name the mode of reproduction of the following organisms and state the important feature 
of each mode 

(a) Planaria 
(b) Hydra 
(c) Rhizopus 

(ii) We can develop new plants from the leaves of Bryophyllum. Comment. 
(iii) List two advantages of vegetative propagation over other modes of reproduction. 

36. (a) With the help of a suitable circuit diagram prove that the reciprocal of the equivalent 
resistance of a group of resistances joined in parallel is equal to the sum of the reciprocals of 
the individual resistances.           [5] 

(b) Find out the following in the given circuit .  

(i) Effective resistance of combination  
(ii) Current flowing through 4 Ω resistor  
(iii) Potential difference across 4 Ω resistance  

 

 

           OR 
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(a) Draw a schematic diagram of a circuit consisting of a battery of 3 cells of 2 V each, a 
 combination of three resistors of 10 Ω, 20 Ω and 30 Ω connected in parallel, a plug key and 
 an ammeter, all connected in series. Use this circuit to find the value of the following : 
(i) total current in the circuit  
(ii) Total effective resistance of the circuit. 

(b) List two advantages of connecting electrical devices in parallel with an electrical source 

 instead of connecting them is series.                     [3+2= 5] 

 SECTION E. (Case study type question) 
  

37. There are so many important compounds known to us, which have some characteristic 
properties like Bleaching powder used as an disinfectant, POP used for joining fractured 
bones, Baking powder used for making dhoklas and baking cake, Sodium chloride as a table 
salt etc . These properties make these compounds very useful in our daily routine. 
(a)  Give the chemical reaction for Chloralkali Process.      [1] 
(b) Why does the milkman add baking soda to the fresh milk?     [1] 

(c) What are neutralization reactions? Give an example.      [1] 

(d) Give two uses of washing soda.         [1] 

OR 

(d) NaHCO3 + HCl→                            [1] 

38. Hormones are chemical informational molecules that are required in minute amounts and are 
directly poured into the blood stream. The animal hormones are secreted in the desired 
amounts by the endocrine glands. Each hormone is responsible for carrying out specific actions 
in the body. The deficiency or excess of hormones has a harmful effect on our body. Hence, the 
timing and the amount of hormones secreted by glands are controlled by the feedback 
mechanism. 
(a) Name the hormones secreted by ovary and testes.       [1] 

(b) Write the function of adrenaline.          [1] 

(c) Write the name and function of a hormone secreted by (i) Pituitary gland and (ii) Thyroid 
gland              [2] 

                                                                OR 

      (c)   What is the meaning of feedback mechanism? Explain with the help of an example. 

39. Read the following passage and answer the questions that follow. 

Ohm's law is perhaps the most popularly known of all the laws, theories and principles of 
electrical sciences. The law forms the starting point in the study of electrical networks, and it 
has reserved, forever, a place of honor for Georg Simon Ohm (1789-1854) in the history of 
science. The year 1976 marked the 150th anniversary of Ohm's law. 
In modern terminology, Ohm's law states that the current 𝐼 flowing through a conductor is 

proportional to the voltage V applied across it: 𝐼 =
𝑉

𝑅
, where R is a proportionality constant 

called ‘Resistance’. 
(i) On what factors resistance depends?         [1] 

  (ii) Name and define SI unit of resistance         [1] 
(iii) Two V-I graphs are drawn for the series combination and parallel combination of two 

resistors. Out of A & B which one represents the graph for series combination and which 
one represents the graph for parallel combination? Give reason. (Graph on next page) [2] 
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OR 

(iii) In the following circuit, how much current would flow through 10 ohm resistor and 15 

 ohm resistor? 
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Class - X         Subject – Social Science  
Time –3 Hours         Maximum Marks- 80 
   

General Instructions:  
1. The question paper comprises Six Sections – A, B, C, D, E and F. There are 37 questions in the 
Question paper. All questions are compulsory.  
2. Section A – From questions 1 to 20 are MCQs of 1 mark each.  
3. Section B – Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks 
each. Answer to each question should not exceed 40 words.  
4. Section C - Question no. 25 to 29 are Short Answer Type Questions, carrying 3 marks each. 
Answer to each question should not exceed 60 words.  
5. Section D – Question no. 30 to 33 are long answer type questions, carrying 5 marks each. 
Answer to each question should not exceed 120 words.  
6. Section-E - Questions no from 34 to 36 are case based questions with three sub questions and 
are of 4 marks each. Answer to each question should not exceed 100 words.  
7. Section F – Question no. 37 is map based, carrying 5 marks with two parts, 37 (a) from History 
(2 marks) and 37 (b) from Geography (3 marks).  
8. There is no overall choice in the question paper. However, an internal choice has been provided 
in few questions. Only one of the choices in such questions have to be attempted.  
9. In addition to this, separate instructions are given with each section and question, wherever 
necessary.  
 

SECTION A 

MCQs (1X20=20)                                                                                                   

1. Choose the correct nationality of the artist Frederic Sorrieu who visualized in his painting a 

society made up of Democratic and Social Republic.      [1] 

(a) German 

(b) Swiss 

(c) French 

(d) American 

2. Which of the following countries did not attend the Congress of Vienna?   [1] 

(a) Britain. 

(b) Russia 

(c) Prussia 

(d) Switzerland 

3. Under the presidency of Jawaharlal Nehru, the Lahore Congress Session of 1929 formalized the 

demand of:             [1] 

(a) Abolition of Salt tax 

(b) Purna Swaraj 

(c) Boycott of Simon Commission 

(d) Separate electorate for the Dalits 
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4. ______ was the most powerful weapon of the Spanish conquerors to colonize America. [1] 

(a) Germs of Influenza  

(b) Germs of small pox 

(c) Germs of Chicken pox 

(d) Germs of measles 

5. Consider the following statements on soil erosion of Chambal basin and choose the correct 

options.                                                                                                                                  [1] 

I.  The running water cuts through the clayey soils and makes deep channels as gullies. 

II. Sometimes water flows as a sheet over large areas down a slope.In such cases the top soil is 

 washed away. This is known as sheet erosion. 

  III. The land becomes unfit for cultivation and is known as bad land. Such lands are called  

  ravines. 

 IV. Wind blows loose soil off flat or sloping land known as wind erosion. 

Options: 

(a) I and II 

(b) II and III 

(c) I and III 

(d) I and IV 

6. Which of the following pair is correctly matched ?                                                                     [1] 

(a) Project Tiger                                                                   - 1988 

(b) Joint Forest Management                                                      - 1972 

(c) Indian Wildlife Protection Act                                             - 1973 

(d) Plants were  added to the list starting with six species         - 1991 

7.  Which one of the following animal is found in and around Bishnoi village in Rajasthan?  [1] 

(a) Asiatic Lion. 

(b) Chinkara. 

(c) Crocodile. 

(d) Snow leopard. 

8. Which one of the following countries does not share its boundary with Belgium?   [1] 

(a) France 

(b) Netherlands 

(c) Sweden 

(d) Luxembourg  

9. ________means a social division based on shared culture.       [1] 

(a) Ethnic 
(b) Democracy 
(c) Secularism 
(d) None of the above 

10. Which of the following is an example of ‘holding together’ federation?     [1] 

(a) India 
(b) USA 
(c) Switzerland 
(d) All the above 

 



3 
 

11. If there is a conflict in the laws made for the subjects in the Concurrent List, then the decision 
 made by ________ will prevail.         [1] 
(a) State Government 
(b) Union Government 
(c) President 
(d) Supreme Court of India 

12. ____________ region has the highest representation of women in their national parliament. [1] 

(a) Pacific 
(b) Americas 
(c) Middle East 
(d) Nordic countries 

13. Which of the following statement/statements is/are true regarding communal politics?  [1] 
(a) State power is used to establish the domination of one religious group over the rest. 
(b) Beliefs of one religion are presented as superior to those of other religions. 
(c) Communal politics is based on the idea that religion is the principle basis of a social 

community. 
(d) All of the above 

14. Match the columns and choose the correct option:        [1] 

I. Demand deposits i) Medium of Exchange 

II. Cheques ii) Issues currency notes and coins 

III. Money iii) Bank deposits that can be withdrawn on demand 

IV. RBI iv) Settles payments without the use of cash 

(a) I-(ii), II-(iv), III-(iii), IV-(i) 
(b) I-(iii), II-(iv), III-(ii), IV-(i) 
(c) I-(iii), II-(iv), III-(i), IV-(ii) 
(d) I-(iv), II-(iii), III-(ii), IV-(i) 

15. Development of a country can generally be determined by:      [1]                                                                            
(a) Its per capita income  
(b) Its average literacy level  
(c) Health status of its people 
(d) All of the above 

16. What is the reason behind high employment in the agriculture sector, but low level of 
 production?             [1] 

(a) Labour Intensive Techniques 
(b) Disguised Unemployment 
(c) Less jobs opportunities in Secondary and Tertiary Sector 
(d) All of these 

17. Sushila goes for her job 30 kms away from where she lives. She is a temporary worker and 
earns less than half of what she was earning in her earlier job. A day off from work means no 
wage. She has no other benefits like housing or transportation.  

 Find out in which of the following sectors she is working.      [1] 

(a) Primary Sector 
(b) Organized Sector 
(c) Unorganized Sector 

(d) Both (c) and (a) 
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18. Choose the incorrect statement about the Right to Work Programme.     [1] 

(a) MGNREGA provides 100 days of wage employment to rural people who are in need of 
work.  

(b) Work is provided within 15 days of demanding it. 
(c) All the jobs are reserved for women. 
(d) Unemployment allowance is provided in case the government fails to provide jobs. 

19. Since countries have different _______, comparing total income will not tell us what an average 
 person is likely to earn.           [1] 

(a) economic policies 
(b) reserves 
(c) resources 
(d) populations 

20. A 'X' has many members. 'X' accepts deposits from the members. With these deposits as 
collateral, the 'X' obtains a large loan from the bank. These funds are used to provide loans to 
its members. Once these loans are repaid, another round of lending takes place. 

 What does 'X' stand for in the above passage?        [1] 

(a) Banks 
(b) Moneylenders 
(c) RBI 
(d) Cooperatives 

       SECTION B 
VERY SHORT ANSWER QUESTIONS (2X4=8) 

21. How did dependency on potatoes kill the poorest peasants of Ireland?      [2] 

22. Give evidences to prove that women still lag behind men despite improvements since 
independence.               [2] 

23. Discuss two salient features of Joint Forest Management Programme.                                  [2] 
 OR 

Distinguish between Reserved Forest and Protected Forest. 

24. Why are only final goods counted while calculating GDP?      [2] 

 

SECTION C 
SHORT ANSWER-BASED QUESTIONS (3X5=15) 

25. Mention any three efforts made by Gandhiji to get Harijans their rights?      [3] 
       OR 

What were the limitations of the Civil Disobedience Movement? Explain.      [3] 

26. “In India some regions are rich in certain types of resources but deficient in some other 

        resources.” Justify the statement with examples.                                                                       [3] 

27. Distinguish between public sector and private sector. (3 points)       [3]      

28. Describe the ways in which communalism poses a great threat to the Indian democracy.    [3]         
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29. The following table shows the proportion of adults (15-49 years) whose BMI is below normal 
(BMI<18.5 kg/ m2) in India. It is based on a survey of various states for the year 2015-16 to get 
the table and answer the following questions.               [1+2]  
State Male (%) Female (%) 

Kerala 8.5 10 

Karnataka 17 21 

Madhya Pradesh 28 28 

All States 20 23 
 

(i) Compare the nutritional level of people in Kerala and Madhya Pradesh. 
(ii) Can you give two reasons for why around one fifth of people in the country are 

undernourished even though it is argued that there is enough food in the country. Describe 
in your own words. 

 

SECTION D 

LONG ANSWER-BASED QUESTIONS (5X4=20) 

 
30. How was the history of nationalism in Britain unlike the rest of Europe? Explain.     [5] 

OR 

Briefly summarise the events leading to the unification of Germany.       [5] 

31. Compare the Intensive subsistence farming with that of Commercial farming in India.    [5] 

OR 

      Name two major sugarcane producing states of North India. Describe four geographical 
conditions required for the growth of sugarcane.                                                                    [1+4=5] 

 

32. India is a federal country. Explain.            [5] 

       OR 

What is the popular name of rural local government? Explain the achievements and difficulties 

of local self governments in India.           [1+2+2=5] 

33. (i) What are the drawback of barter system?         [2]                                                                                                   

        (ii)  How did money solve the problem of barter system?       [3]      

SECTION - E 

CASE-BASED QUESTIONS (4X3=12)                                   

34. The silk routes are a good example of vibrant pre modern trade and cultural links between 

distant parts of the world. The name ‘silk routes’ points to the importance of west bound 

Chinese silk cargoes along this route. Historians have identified several silk routes, over land 

and by sea, knitting together vast regions of Asia, and linking Asia with Europe and Northern 

Africa. They are known to have existed since before the Christian era and thrived almost till 

the fifteenth century. But Chinese pottery also travelled the same route, as did textiles and 

spices from India and southeast Asia. In return, precious metals- gold and silver – flowed from 

Europe to Asia. Trade and cultural exchange went hand in hand. Early Christian missionaries 

almost certainly travelled this route to Asia, as did early Muslim preachers a few centuries 

later. Much before all this, Buddhism emerged from eastern India and spread in several 

directions through intersecting points on the silk routes. 

34.1. What routes were identified by the historians?         [1] 

34.2.  What exchange did European return to Asia in the form of trade?     [1] 

34.3. Write any two importance of the Silk Route.        [2] 
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35. Read the source given below and answer the questions that follow.                                 

Irrigation has also changed the cropping pattern of many regions with farmers shifting to 

water intensive and commercial crops. As we can see , the dams  did create  conflicts between 

people wanting  different uses and benefits  from the same water resources. In Gujarat, the 

Sabarmati-basin farmers agitated and almost  caused a riot over the priority given to water 

supply in urban areas, particularly during droughts. Inter-state water dispute are also 

becoming common with regard to sharing the costs and benefits of multi-purpose project. 

Most of the objections to the project arose due to the failure to achieve the purposes for which 

they were built. Moreover, the big dams have mostly been unsuccessful in controlling floods at 

the time of excessive rainfall. 

1   Which two Governments were involved in Krishna Godavari water disputes?                  [1] 

2.  Why have big dams  mostly been unsuccessful in controlling floods at the time of excessive 

 rainfall ?                                                                                                                                    [1] 

3.  Write two impacts of changing  cropping pattern of many regions with farmers shifting to 

 water intensive and commercial crops.                                                                                       [2] 

36. Two different sets of reasons can be given in favor of power sharing. Firstly, power sharing is 

good because it helps to reduce the possibility of conflict between social groups. Imposing the 

will of majority community over others may look like an attractive option in the short run, but 

in the long run it undermines the unity of the nation. Tyranny of the majority is not just 

oppressive for the minority; it often brings ruin to the majority as well.  There is a second 

deeper reason why power sharing is good for democracies. Power sharing is the very spirit of 

democracy. 

36.1. Name the two different sets of power sharing?                [1/2+1/2=1] 

36.2. What do you understand by the term ‘a legitimate government’?     [1] 

36.2. Mention two positive aspects of power sharing?       [2] 

 

SECTION - F 

     MAP BASED QUESTIONS (2+3=5) 
 

37. (a) Two places, (a) and (b) are marked on the outline political map of India. Identify these 
 places with the help of following information and write their correct names on the lines 
 marked near them.                [1x2=2] 

(a) A place in Punjab where the Jallianwala Bagh incident took place. 

(b) Mahatma Gandhi organized a satyagraha movement at this place for indigo planters. 

(b) One feature (I) has been marked on the given political map of India. Identify the    

 feature with the help of given information and write its correct name on the line  drawn 

 near it.                            [1] 

(I) A major coffee producing state. 

  On the same political map of India, locate and label ANY TWO of the following with    

 suitable symbols.               [2] 

A. A dam built on river Bhagirathi 

B. A dam built on river Narmada. 

C. A dam built on river Mahanadi.                                                                                                      
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Class - X                                                                                          Subject – Spanish  

Time – 3 Hours                    Maximum Marks- 80 
   

            
 

Lectura - 15 marks 

 

1. Comprensión:                                                                      [10] 

    La gente de calle en México 

  Recientemente el Instituto Nacional de Estadística y Geografía (Inegi) publicó en su Censo de 

 Población y  Vivienda, 2020 la cantidad de personas que han perdido  su vivienda a causa de  la 

 pandemia de COVID-19 y que  ahora están viviendo en las calles.  
 

El Inegi tuvo que realizar una operación por la noche para  conocer a las personas que  viven en 

las Calles de la Ciudad de México. Este ejercicio se llevó a cabo por la noche para la 

identificación de la población con ninguna  vivienda porque la gente no se mueve tanto a esta 

hora.  
 

Para ayudar a los niños y niñas que viven en las calles en México, hay una organización no 

gubernamental (ONG)   llamada “Siempre con niños” que trabaja para la erradicación   de la 

pobreza y problemas de estos niños y niñas a través de ayuda psicosocial.  
 

 Contesta:  

(a) ¿Por qué la gente perdió su vivienda en México?  

(b) ¿Por qué el Inegi empezó la operación de buscar a las personas sin vivienda por la noche?  

(c) ¿Qué es “siempre con niños” 

(d) ¿Quién publicó en Censo de Población y Vivienda y qué publico? 

(e) ¿Cómo trabaja siempre con niños?  

 

2. Comprensión                                                               [5]  
 

 La casa 

Vivo en esta casa desde que nací y me gusta mucho. Sin embargo, mi amigo Marco cree que es 

espantosa y que aqui viven fantasmas; o por lo menos uno. Yo nunca he visto uno, pero él está 

segurisimo. Como tiene tanto miedo del fantasma, siempre espera delante de nuestro garaje 

cuando viene a buscarme para ir a jugar. Es un gallina. Y nunca ha llegado a pisar la escalera, ni 

tampoco a tocar la barandilla. 

Marco está convencido de que un fantasma llamado Casimiro vive justo debajo del tejado y que 

entra y sale de la casa por nuestra chimenea. Según Marco, Casimiro debió de morir hace 

tiempo de aburrimiento y ahora se dedica a asustar al vecindario. 

Lo dicho, yo nunca lo he visto y tampoco creo que haya alguno, pero él siempre me intenta 

convencer de que existe y cree que Casimiro es responsable de todas las cosas extrañas que 

ocurren en el barrio. 
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Hace poco, por ejemplo, Marco venía patinando hacia mi casa por la calle, cuando, de repente, 

creyó ver a Casimiro asomado a la ventana. Se asustó tanto que se tapó los ojos y terminó 

atropellando al cartero, que se encontraba junto al buzón. El cartero se chocó con nuestro timbre y 

aquel ruido me hizo salir a ver qué pasaba. Abrí la ventana y... ¡vaya! Había cartas repartidas por 

todos los lados y el cartero se había dado un culetazo. Mientras, Marco seguía tapándose los ojos 

con las manos y no paraba de repetir que Casimiro bajaría a sentarse sobre el canalón para morirse 

de la risa. 

¡Pobre Marco! Cree que todo es cosa de fantasmas cuando, realmente, lo que ocurre es que es un 

poco torpe. 

        (Tomado de: espanol.lingolia.com) 

Elige la opción correcta a las siguientes preguntas: (V/F)  

(a) Marco no tiene miedo a los fantasmas.  V/F  

(b) Marco cree que en su casa vive un fantasma.  V/F  

(c) Casimiro es el fantasma.  V/F  

(d) Casimiro dice a Marco que causó el accidente.  V/F  

(e) La narradora piensa que Marco pone una excusa    para su torpeza.   V/F  

 

Escritura - 15 marks 

3. “Aunque la vida en las ciudades es muy avanzada todavía la gente sufre de muchos   

 problemas” ¿Cuál es el problema más grande de tu ciudad? (100-120 words)            [10] 
 

4. Tu mejor amigo no ha aprobado el examen de ciencia, escribe una nota para motivarle usando el 

 imperativo.                [5] 

 

Literatura : 10 Marks 

5. Describe los autores de literatura española :-   

(a) Describe a Gabriel García Márquez y sus dos obras. 

(b) Describe a Mario Vargas Llosa y dos de sus obras.  

(c) Describe a Jorge Luis Borges y dos de sus obras.  

(d) Describe a García Lorca y dos de sus obras.  

(e) Describe a Gustavo Adolfo Becquer y sus dos obras.  

 

Cultura : 05 marks 

  

1. ¿Cuándo se celebra el día del libro?  

a) 23 de Mayo   b) 23 de Abril   c) 23 de Junio   d) 23 de Julio 

2.  ¿El museo de Reina Sofia está en:  

a) Barcelona    b) Malaga     c) Madrid     d) Valencia   

3.  ¿La Sagrada Familia es diseñada por el arquitecto…. 

a) Antoni Gaudi   b) Rafael Moneo    c) Alonso Cano   

4.  ............ es la moneda de Perú.  

a) Peso       b) Dolar      c) Sol      d) Peso Peruano 

5.  Asunción es la capital de …….  

a) Chile     b) Uruguay      c) Venezuela     d) Paraguay  
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Gramatica : 35 marks 

 

  Usa los verbos en presente de indicativo : -                        [5] 

1.  Yo…… en España desde hace casi diez años. Así que,como he aprendido el español en la calle, 

 lo que me ......más fácil es entender a la gente, pero a veces  …… literalmente frases de mi 

 idioma al español y, claro, la gente no …… lo que ….. decir. Tampoco  domino la gramática y 

 por eso, aunque ........ hablar  con mucha fluidez, todavía cometo errores. 

        (traducir, entender, vivir, querer, resultar, poder) 
  

2. Traduce las frases a español usando ‘se’ impersonal:        [5] 

(a) Hindi is spoken widely in India.   

(b) Less money is spent on education.  

(c) One sleeps better when there is silence in the room.  

(d) In Spanish letter B and letter V are pronounced the same.  

(e) The names of persons and countries are written with capital letters.  

3.  Completa las frases usando objeto directo e indirecto:        [5] 

(a) María enseña las fotos a nosotros.  

(b) Lila pide un favor grande a ustedes.  

(c) Mi padre regaló un libro importante a mí.  

(d) El profesor enseña el idioma de español a vosotros.   

(e) Santiago vende la moto a su amigo.  

4.  Completa con las frases con pretérito indefinido:              [5] 

(a) Anoche Ana y Pablo …….. (perder) el autobús para Madrid. 

(b)  Hace dos años..... (ganar/yo) una competición de gimnasia. 

(c) Nosotros no …... (asistir) a la clase de negocios. 

(d) Sachin Tendulkar ……. (dedicar) su vida a criquet. 

(e) Felipe Gustavo …….. (vivir) del año 1963 al 2010. 

5.  Completa las frases conjugando los verbos entre  

     paréntesis en el presente de subjuntivo :                          [5] 

(a) Es importante que ……… (estudiar, vosotros) todo el día.  

(b) No creo que mis padres ……. (querer) ir a Argentina este mes.  

(c) No entiendo que la gente ……. (ser) tan mentirosa.  

(d) ¡Ojalá …….. (hacer) buen tiempo este fin de semana!  

(e) No creo que Pilar y Martha ……. (tener) razón.   
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6.  Observa la imagen y responde a las preguntas:              [5] 

      (verdadero o falso)  

            

 

 

 

 

 

 

 

 

 

 

 

 
 

(a) Hay siete personas en la imagen.  V/F 

(b) Esta imagen es de un parque.  V/F  

(c) Un chico está durmiendo. V/F  

(d) Hay dos chicos fuera de la habitación. V/F  

(e) Hay cuatro chicos que tienen gafas. V/F  

7.  Completa las oraciones con las preposiciones correspondientes.                                                    [5] 

(a) Me gusta la leche ……. chocolates.   

i) a         ii) con          iii) en  

 

(b) Mañana vamos ……. la biblioteca.  

i) para       ii) a         iii) en  

 

(c) Voy ….. llamar a Raquel ……. invitar ….. cenar.  

i) a, para, a     ii) por, para, a    iii) en, por, para  

 

(d) Vamos …… visitar ……. Barcelona …….mis amigos.  

i) en, a, por        ii) a, a, con     iii) por, en, sin   

 

(e) Ahora estamos delante …… la casa.  

i) entre      ii) de     iii) durante  

 

 

 

 

 


